Teitet NTA He/SeTus udter, feg. 2020/ 2021
WA

G\

ST dfga fgdts U9=-us &7 &

[orftem fixfe : 05.01.2022, Shift-11

Which one of the following is vastly absorbed

by the ocean surfacc"

& forge we & O
HAE g araviiie (aram'reh & o o 82
(a) Visible wave radiation/3v9 @1 fafeta
(b) Medium wave radiation/Fe 701 fafaRor
(¢) Long wave radiation/grd wim faferar

(b) Both (A) and (Ryaé tue) But (R) is NOT the
correct explanation, of (A)/(A) AR (R) G|
wé ¥ SR(R), (&Y F F& =mE T 2

(¢) (A)asicorreet, but (R) is not correct
(A) T 2, AT (R) T 7 2

(d) (A)is not correct, but (R) is correct

(A) T@ T 2, 9T (R) T 2

(d) Ultra violet wave radiation
T

Ans. (¢) : ﬁﬁmmu@mmmﬁﬁ—{;
Eﬂmélmmmm@iwm«ﬁmﬂ

”_',“,Ans (d) : A T T 8, w9 & S0 2011 B

AN W SHAGEAT & ST WA &S T,

ney 29 9RE % qeF 9 A fiud @ ok 3ee 9

#7 § S & 791 9gS d WS aq U9 9gd &9 8
Im: (A) e @ R, afET (R) @ 2

79 78 fhed T W) SehiGa, TR 8 IEe
B &1 e mﬁmfﬁqagmaﬁmﬁm
T i i W g (@ W [ Hae e

wma@vﬁam%m

B &
TR W fafeer agEew ﬂw
I TR e A

2. Given below are two statements : One is
labelled as Assertion (A) and the other is

The range of pll value for unpolluted rain
water is between :

aut st 3 . W s e g
&

(a) pH4and pHs/pH, st pH;s
(b) pHs and pHy/pHs 3T pHg
(c) pHs and pH4/pH, pH;
(d) pH; and pHy/pH, 3T pHg

labelled as Reason (R) :
a3 HIF — Weh ATWHST (Assertion | |Ans. (b) : 3WaEd aat ol & GL.Ug. A, $.04. 5 31
A) & w0 ¥ fafgs §, & gO0 IWH wRO ﬁ.@.easmamélpﬂﬁmﬁmaamﬁmﬁm
(Reason R) & ®q H— EEEIA A & a9 HH F A e
Assertion (A): Among the states of India ||fawfaa fomar 7 2, frd pH Thel Fied &1 399 foaera |
Madhya Pradesh  recorded | |37t qor & it Yaoan 910 F B TS T el F
hlghesl percentage of Scheduled pH 7 39 3R &
Tribe papulation in census 201 1. TR S - 84 o 65
Reason (R) : Madhya Pradesh is located in ’ ’
central part of India dominated Th - 74 el - 6
by large area under forests with IR - 28 fem - 24
least road connectivity nd i - 22
; @) q;;‘:ﬂ?blmy & e s 3 4, ISI:?lti:{ll'l"wise locationof Biosphere Reserves in
SO 2011 F swgfaa sW et ura ¥ Hradseta awvat @t e /dugniia
F FAEE & Iy Savm &t grram frafa—
feram (A) Nokrek in Meghalaya/3eTerd & isish
& (R) : g YW WA & qem o § fag (B) Cold Desert in Jammu and Kashmir/
2 3R 9% 92 & § e & aw W 3R HYER § i qee
Hed ¥ TS 791 UG 9g7 H9 2 (C) Simlipal in Odisha/3ffEwn & fefara

In the light of the above statements, choose the
most appropriate answer from the options
given below :

IWITh HET & ATErs o, e fedr 73 Rraeat

" ¥ WEH IUYh I G 9 G-

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) 3t (R) G
@ € 3l (R), (A) & 78 = )
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(D) Seshachalam in Tamil Nadw/
RGN B

Choose the correct answer from the options
iven below :
T famedt § ¥ WE IWC @ WA
wite—
(a) (A)and (B) only/Fad (A) 3R (B)
(b) (B) and (C) only/&ae (B) 3R (C)
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(c) (A)and (C) onlyﬁlﬁﬁ (A) 3 (C)
(d) (B)and (D) onlyfaﬁﬁ (B) 3k (D)

Ans. (¢) : TOed ¥ AAis, aAfew F Rddiue

Hered TR fuw &) oA F Fw 18 avew frag

€1 ora § Sia fafua § Jgd g9 < & 3@d gy wf

M |l & Fwor & 3R AE syged s @

Gl &1 8q 1986 § UL Statge Hdma & (64T

T 91 $® H4 daded & g 39 SEH &

EiCLER] TATYAT O

DN EE 1986
(FAleH, i, deAE)

) | 7= = (smmEvE) 1988

(3) | 97w (zmm) 1989

(4) | mEAR &I @Et () 1989

(5) | Sivm=ew (3R ¥ 2010

(6) | @ (TeA W) 2011

(7) | sAVoER 3TEeS 2005
(TTiETE)

(8) | I FamER 2013
(3= e €7 9R)

9) | ¥ ov=a
(et 52w

5. What will happen if the earth absorbs all the

incident energy?

ST e W smuRE o @ TR a

At §, 99 = grm?

(a) Constant heating up/fRa% @9

(b) Constant cooling up/Re ¥

(¢) Constant transmission/fer d=tor

(d) Constant reflection/Rgt quad=
Ans. (a) : 3N gt ot smfdq S i Ewiig w
ot 8, 7@ =R a9 @ 9 & e §ag 9o
i Tl & g I 0 T @ @1 eae
Tag H yUema 39 S @ e & w9 § 4aetd gae
¥ argavea o fafEor g0 T @ S R ST e W
qUe @ ¥ g9 @ SR 9Uad W T gaiag (S #)
¥ TR -

Kh N gty I yatay
0 - 100% 10 - 99%
20 - 95% 30 - 88%
40 - 79% 50 - 68%
60 — 57% 70 - 47%
80 — 43% 90 - 42%

6. Who among the following gave the concept of
"Unity in Diversity"?

fafaerar § uwar’ @t @ frafefay § 9

7. Which of the following statements are correct

ahout sea water.

st W@ & few § frafafes § /@ @E-9

HYA U §7

(A) The density of sea water depends upon
temperature, pressure and salinity/FHq&l Sl
H g A9HM, @9 R deuE 9w
A R

(B) Convergence of water has no effect on
density/S W o & ARG H HE T9ET
T vea 21

(C) The thermal expansion of water varies with
the increase and decrease of temperature

A & Jga-024 @ 9 & Feig famn
TRadA # 21

(D) In the middle latitudes, due to an excess of
precipitation the density is higher/"ed E N
1 srafts afu & FRv1 T s a8

Choose the correct answer from the options
iven below :
A m faecal o ¥ 9ff 39 &1 wadT
WHifag—
(a) (A) and (D) only/&ae (A) 37 (D)
(b) (A) and (C) only/Fad (A) 3 (C)
(c) (B)and (C) only/3ae (B) 3 (C)
(d) (C) and (D) only/shas (C) 3 (D)

Ans. (b) : e (A) 3T (C) T 21 T W & &t
SFIRAT 1 ¥9TE geal 81 Wed swiwl d e g
& FOT GG T F O FH 3G T R TR
gammmqﬁi#Tmﬁﬁm3mﬁmﬁuﬂ
(1) d9H —adg R (2) @l — gefiEaEs
(3) TV —> g Tl & 4
Y& A & 9@ 1.00 glem® B & (4° AHH W)
Wafh TEENHG @ & iEd 94 1.0278 glem’
R, S YE 9 b e @ 2 & 3 wRww
3 8 (4° AIEE W) |

8. Which of the following is not associated with

structure of a tropical cyclone?

wehatd @t
e fmm? AT § WG e 87
(a) A.V. Humboldv/T.&. gaice (a) Eye Wall/amaers fifiy
(b) Hettner/ge (b) Spiral Bands/Sfte gzt
(c) C. Ritter/dl. Rex (c) Annular Bands/deidaR et
(d) O. Paschel/3T. UTvaa (d) Ekman Spirals/T&qH @ftfe
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Ans. (d) : TENH gfte 37 Feddg Twam # @
¥ gafyw 78 8, als smesa fify, offe w@it an
FEATRR Yed! Thard @ HCa1 § weEud g1 Sgeat
g (30° 3. - 30° T W) § I@H WAl @ I
Heaf wham @ed &1 3 fre argem A sl
oRE= @3 @R €, e afme = 640 FER. 7
gmi 21 v & fafm vl F 3w S owaw 3w

TR &-
AT &
R AT WOR H, 3., TG Tod SmRa
PETI TR YT ART & Q& AL wSwn A
fafer fafe e fern
h Match List-1 with List-11 :
elt-1 3 W -1 @ e S
List-1/8=i-1 List-11/geR-11 . C
Process Parameter, ./
(A) Photosphere () Sunspot
(B) Maunder _|:;nin__imum' " (1) Solar irradiance
TEEt g TR s
(C) ABC (II1) Palynology
T & @ TTET g
oo &
STEFI

(D) Pollen Grain (IV) Formation of
layers of pollu-

tants

WgHS F Haal

EARCCEll

Choose the correct answer from the options
given below :

TIT=hUT

10.

Match List-1 with List-II :

Teit-1 & g wEh-11 @ e wee—
List-1/h-1 List-11/T=-11
(A) Culture (I) Culture traits that are
functionally
interrelated
Sicin TEhEs T W
(B) Cultural Complex™(IT) Area that is distinct
; from surrounding
- areas in  specific
\A\\\T (:harag_;:rist\_ii.;:r
| T vige e R
L YV fadmmsi # amw-uw
;e & & ¥ 3 1
" (C) Cultural Region (IIl) Specialized
behavioual  pattern

under standings and
adaptation of a group

Tkl &7 faRre =regr w==i
yoew wrm o TR

N IFTHT
(D) Cultural Integ-  (IV) Interlocking nature of

ration the sociological
technological and
ideological sub-
system

Hishias Thiww LIS e,
ST 3R i
39yl
3R ST

Choose the correct answer from the options
given below :

o o & oot § @ w390 @ e
T —

i o T fawen F ¥ o I S waw A B C D
. (a) III v Il I
(b) 1l 1 11 v
A B c D () 1 1l 1 Y
(a) 1 111 v I (d 1V I 1l I
(b) 0 [ v I Ans. (b) : T8 G 479 39 &N 8-
(c) 1I v | 111 qeh-1 TEAt-11
(d) U I m _w REE fafre e @ Sed
Ans. (b) : & AW T 36 TR 8- T I TR @ IHAT
wieman UETS (B) | wigios vige | Wil on Sl e &9
(A) | e mo=w o wéifta , s € |
(W) (C) | wigins & T &7 S (AT favmas
& - = o glm-w%é‘ﬁnamﬂ
(C) |uwd @ SR S Hae A (D) | wrfe=s TN WEE, S s
(D) | w=m W U deE @ T Hgif-ad 39 Sl &1 3T
G ORId i |
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11.  Which of the following vegetation species do

not pertain %} Tropical Thorn Forests?

| gefe @ -t s Iar
wicafa ddiet o=t @ Wafera e &7
(A) Nirmali/fef (B) Khejra/@wgT
(C) Tendu/dg (D) Haldw/&eg
(E) Babul/agd

Choose the correct answer from the options
given below :

o e T Rreedi § ¥ W@ I = v
51>

(a) (A) and (B) only/&aa (A) 31 (B)

(b) (C) and (D) only/&ae (C) 3 (D)

(c) (A)and (E) only/Haa (A) 3 (E)

(d) (B) and (C) only/&a@ (B) 31 (C)

(a) (A) and (C) only/&ae (A) 3R (C)

(b) (B) and (C) only/&aet (B) 3K (C)

(c) (A) and (B) only/&a (A) 3R (B)

(d) (C) and (D) only/&ad (C) 3 (D)
Ans. (¢) : YRA FI TEE Tolrg 99 U9 HYHR H o
sEEd 2w 9l RoeE &7 Fafd @1 39 Sway
veu § g4 & i@ IR fagm el & aoom § F9
W UM ST @ R qgl g7 & afEa aEE 150§

|7°c?mumwmé|m§sﬂaa@ﬁaﬁs"cﬁ
FA @ S 31 A oo g A o S ovedt @
IR Afe SR & wnil § 9% Ruwm & w9 § a6 2

79 a9 ° auf & afafyam, faed qgﬁafrrmaa
@méﬁ#ﬁmﬂﬁﬁi%n%u&%ﬁnéﬂ F
T F FE @ F I Eiw & § Ry e
M @ & FROT 3= AN a9 I=T STEA a1 W@ 2

g E%Wmﬁ_am”“m %*Q;m; fﬁ; o7 W & i BT a, b 3 & S c, d WA 1
T TR st e i R S i & 13. \\fhlch one o'f tlae following is closely associated
aﬁﬁ - N T e G S with westerlte_s.a P — N
P FHHT 39 FER - o
() |3 FHeauia | W qﬁgﬁ@?ﬂ (A) Furious fifties/SavE Ja9 (FRFW fHots)
ol S, 99, N (B) Boyle's gas law/aTaa &1 9 faam
_ AR (C) Walker circulation/amsR gRe=Rul
2) [ wfedd | o=, amE, ‘Eﬂw, <A, (D) Ross by waves/Tad @t
ki ardt | a1, g, e, G- Choose the most appropriate answer from the
(AT amfe | options given below :
BN EE T %ﬁ&n&ﬁaﬁu’fﬁﬁmmﬁmw
g & He AT wite—
@) |+ wowEd @, d8, &, ), &ad (a) (A) and (B) only/&ae (A) 3 (B)
FHieeR F@E | 3R (b) (B) and (C) only/&ad (B) 3 (C)
(5) | =R &= o, HgRAT, G, = (¢) (C) and (D) only/sad (C) 3t (D)
A gl anf) (d) (A) and (D) only/&ad (A) 3R (D)
(6) | wddta a= ®, FE, g, T, |||Ans. (d) : TUE ol G GE &1 g v A
=R 3R wafen 31 Uga M I T aEE (30°-35°)
12. Which is not frue regarding mountain climate ||37&iel & swgda fre e (60°-65°) swivh &
of India? , A TS A T AN R UE # T g FE
W F wdde wearg & an # St €| |3 et smvem 5w @ zﬁwﬁmﬁ?ﬁwsm
A FF-TT wUT WE T &7

(A) Sharp contrasts in temperature between the

sunny and shaded slopes/d % 3@ aik
foq@ =@ & e F ot sew

(B) Diurnal range of temperature is high/ &
AT F AR () A a2

Y W TR AT, 50° O S F U9 TR
TEET A9 60° & U drad |R1 ek A ¥ gERa §
ARt uRtEeR @91 e fae-afidt gem (3=) ] gt
2 T SHE KT FFAH N2, AE F AW F U
T foan T 21

. . . 14, 'Who is usually given the credit for establishing
© E;:::_;r:lz:; :::r::;;rf;fu;gml %“Ehmmdmugm the validity of the idea that there was an Ice age
Bl R e during which ice sheets covered much of the
A %H;ET e iR & Northern Europe?
(D)H'hI ied by high ﬁw = ﬁﬁ
1gh temperatures accompanie y hig =
humidity/3e2 99 & WE-91 3T 37| - Emﬂ oy & %ﬁgﬁ had m&%
Choose the most appropriate answer from the AL a
:élaons given below : ST H Fa ar?
e 2 foraedi § ® WorR IUGE I H (a) Jukes/SIHT (b) Agassiz/3THIst
waT S — (c) Ramsay/ A (d) W. Penck/e=q. %
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Ans. (b) : 300 AT & ATEH A1
e wa e i dww @

fiea, ﬁﬁﬂﬂgﬁ&iﬂﬂﬁﬂﬁﬁél ]
sftE § ff fRvae F 9r s yan & g i g,
- TARE, FE, IeAaE qd AR

15. Maich List-1 with List-11 :

i1 & wre gEi-11 @ frar @ifie-
List-1/gh-1 List-11/g=R-11
Relief Features/ Name of Oceans/
IouTad & @EY & ATy
(A) Puerto Rico deep (I) Pacific Ocean
ol Rt € YT HETHIR
(B) Sunda trench (I1) Atlantic Ocean
(C) Philippine trench  (III) Indian Ocean
Referdy @m &= TR
(D) Point barrow (IV)  Arctic Otean’
Choose the correct nnswer frorn the options
%:}en belcm
e ma ﬁlm‘f ﬁ b 1:@ I H TaAT
R S
(@) I S\l I v
(b) IV 111 11 I
(c) 1 111 I v
(d) 1 v I I1
Ans. (c) : T Gaiem 47 39 TR o—
Ieaad & bR TETERRT & ATH
(A) | oeifat 2 TS HEHNT
(B) | 4e1 @ &= AR
(C) | ferd @ SYd HEETR
(D) | Wize au Hheh AemT
16.  Which one of the following group of states/UT

recorded more than 35 percent of urban
population according to census 2011 data:
ST 2001 % 2T & AN
T ¥ few Tw/Aw T @ wOp 3 35 wihee
¥ atftres Frfia wdEar 9 fean?
(a) Andhra Pradesh, _Kerala, Chhattisgarh,

Haryana/3T=1 9291, 3R, SdTg,
(b) Gujarat, Tamil Nadu, Kerala, Punjab/
(c) Tripura, Kerala , Punjab, Chhattisgarh/

, e, T,

(d) Slkklm Kerala, Punjab, Goa/

fafem, e, <o, e

¥

17. Northward slopes remain forested in

mountainous areas due to :
T frefafes @ /)
frwalt awg ¥ aaTeoTed a1 @t &7
(a) Radiation intensity/fafaor s
(b) Sensible heayHaa 3=
(c) Diffusion of heat/3s foR
(d) Rayleigh scattering/ieT fer@yan, |

N |ofrw ffmm wag zem §) ST (Addictive) W3

Ans. (a) : TG &1 ° STUqE @Rl e dEa &
FRO GO A AN (1842-1919) 3
Hifds R & i S pihar aur 3u% Sgeard
ST T e g (g S HRor & sl A sfhar

H 1 Wl Fed &1 98 el ot el w=id & a ae
& %I aﬁ ‘Faﬂ F®T (Sensible Heat) mméu
s ferd ﬁﬁam%uﬁaﬂqﬁmmé

(3?&13#?1 WeT) 319 @19 (Latent heat) el @1 Hal

& 9
S8 3R 3EYT A9 & WERRE 20 WHE 3 R

Tl Wger T @ S g 2

18. Environmental determinism was criticised and
oppased by :

BT yatawia Fryomarg &t e
3l et fomar mar-
(A) Huntington on and semple/gE72 3R e
(B) Vidal de la Blache and L Febvre/

2 o = I uE

(C) Humboldt and Ratzel/BETee 3R e
(D) Ritter and L Febvre/ReT 3R & %
(E) Blache and Reclus/&mer 3t Raerer
Choose the correct answer from the options

iven below :
5 fear & feedt o @ W@ IO @ waA
31 i o
(a) (A)and (B) only/&ad (A) 3R (B)
(b) (B) and (C) only/&aw (B) 3 (C)
(c) (D) and (E) only/&aw (D) 3iR (E)
(d) (B) and (E) only/&a@ (B) 3 (E)

Ans. (d) : TS B o =Y, T et a9 QoG e
3 iy freegar # amwEa sk iy fEE
widE qieEmsi 7 oy, qeitis T, TR
TG T4 itHioe qGvd § WEu AveE feam & e
o @d e 3 g <Al & S S I
IR qm 2, JEfE FafEd fERs & s “gr%:
Wﬂﬁﬁméﬁéaﬁtmmm
Twmedl (qgret) T FEfw @ 21 3w fewum @
waityes famm 194 aar smivys 207 st & s o
g3 58 fommum &y wwdw fegw, dt S aw

Teqdy efeted g

Ans. (b) : SO 2011 & el & FER- T,

afeg, o a9 YaE Tl § 35 Sfoem o afis|[19- Which one of the following periods did

TG STEE SafF ST archaeologists find the evidence of permanent
% R T ﬁ, ¥ e human settlements? P

Sie9I aTel T 39 YR E- # 9 erafy # wrwwfae el

(1) it - 622%, (2) S - 52.1%, T arfiraTai & wea e §?

(3) EETg - A845%, () ;A - ALT% (a) The Paleolithic Period/ UM SFafy

(5) T 42.60% (b) The Bronze Age Period/®& il s@fd
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(c) The Neolithic Period/7=qmivTEH 37afer
(d) The Classical Era Period
(
Ans. (c) : FaUmEIUE Ay H§ [aaies ®@E AEE
sftErel & @Rg UE SR §) Faui qe S
T Wl @ st s e 9 T w
maqmmmﬁmﬁaﬂ?ﬁmm. mﬁaﬂmtﬂ
arl T8 ENRIRE . gftfad 1l
qmﬂﬂgun;umma%mmwﬁma ﬁ:ﬁ%?mé
YR & SN & WY I soerg F gt A oada &
HMR W A9 Haensii 7§ afler s e-
e QT e (S § 1 9 1.9.)
Weg QT et (1 @ $.9. § 40,000 3.4.)
Ieg QUUNIOT & (40,000 9. § 10,000 .9

21. The economic zone' of India from the coastline

extends uPtu a distance of :

URA & INfhE g wE W@ ¥ R @ A9
T &7

(a) 112 nautical miles/1 12 T did

(b) 120 nautical miles/120 Flﬂff LI |

(¢) 200 nautical miles/200 ¥q Hiel

(d) 320 nautical miles/320 HH Hia

Ans. (¢) : WA 1 ‘Hide &7 7€ @1 § 200 §YI Hiel
[ T then 21 R 2w S a2 @ @A A 2d-
W) aw HA-GF A 81 o Wl § WR & AN
fasret it 1 faem= aren () Ed T S smR
W@ (Base line) Fed &I FREE T &

faadt 2w (vwa) & wefim @ & @ 9w
:%;:—:vﬁmmé‘—

20. Which of the following are not the property/ies
of correlation coefficient? _ DREGEEGEL qg ER @ ¥ 12
WA-TT WEHERT YU @l ( Territorial sea) | el %1 g8 o 2|
Rrgtren <wét £7 : . (2) | Hewd | 77 YR @l § 24 W
(A) ris mdependg?t of the-achou_:e gfungm! (Contiguous Zone) | dret % g8 &% 2
(B) ;i(s.a:i“:r)leaj:dcntofscalew (), | S ™ T N W ¥ 200
r(mgﬂﬁﬁﬁﬁﬁﬁl (Exclusivez ﬂ'ﬂﬁ‘ﬁﬁaﬁ{ﬂﬂiﬁﬂ'l
3 Economic Zone)
©)r I(';:ﬂ‘;’c“;"c;%'_(‘l]arg ;]? ¥ Re 1 22.  Which of the following describes central place
r - ‘
(D) r = +1.0 indicates a perfectly negative model o W &I Hd T Tisel & JuiT
correlation/r = +1.0 Uil FHRIES HeTEH & &7
E < Ha’_d]%‘g" __%' . . (a) Spatial patterns of urban and out lying areas
E)r - -l |Ed1catcs a perfectly positive based on the flow of goods and services/d&]
sousleion/e ~DeiIEhES, ke Greia o 30t % Fae & e o v
. & TS Sy
Citg:slt: l‘::- .correct answer from the options (b) Spatial pattems of income groups
5 e m faaedt F ¥ Wl S @ @ ST T W ey
=Prt- (c) Spatial panemﬁs{ of residential places
((g Eg; ::3 ECB)) g:g e Eg)) i ((g)) (d) Spatial p% of cultural places
1 wifas
(6)(C) aric (E,)) m]y@ﬁa (©) e U?) Ans, (a) : $E WA Hed ay] 3R GGl F @R &
(d) (D) and (E) only/&=d (D) 3R (E) imiadyl g il i
Ans.(d&:ﬁmaﬁmﬂﬁ%ﬂﬂﬁﬁﬁﬁﬁ Y A Gl g WE““H 'ﬁ“"a‘[m
qEed & TR & YedEY ded &) gEl el § al $ - = masg“mmsm“z'”“ 3
el & O W @ T F 9 & wnd % e ||| A S 2 ' fereerent
1 qIF 3 W T T §| GG O &g W fagm (1933) & whweq <Rl s &
A+ T -1 & €19 g S 2 ) Ak weea i altuii%muu%mqt%famémﬁaamﬁi
+0.5 9 i) 2, df gaElt ol & dewE Hewyul i f 87 & W wEEd & fue ue Rt o et
%tﬂrélmmﬁﬂﬂﬁwm?— (Constant) 'k’ HH &1 g1 fFeer 3 @9 WaR & fim
- = fradil & fow i weR & 'k’ god Tad 9
¥100 QUi T Wmm_k: =3 4
L Eﬂwﬁ yurESE fER- k=7
+0.50 €1.00 S 23. Drift Theory of Wegener was postulated
:ggg g ;T'q'm = FHD mainly to explain, which one of the following?
’ YATeHS w1 favemu= fagr= HEdd:
-0.20 9 FH He FUTHS ¥ Teruent s &3 & fog wfanfen famar
UK NECC T ar?
37: famey (D) 3R (E) Hewa= 0N i faeman el (A) Ice Age and Glacial movements
4 sk Rudia daem
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(B) Geological similarities of the coasts and
Glaciatio
AT

(C) Distribution of landforms and ocean floors
q- T 3 TR a9 &

(D) Major climatic changes in the world
fava & &7 SterEg TiE

Choose the most appropriate answer from the

options given below :

S foor ™ fraedi ¥ | wEd I0gw I A

T B -

(a) (A)and (B) only/&a (A) 3 (B)
(b) (B) and (D) only/&ad (B) 3R (D)
(c) (C) and (D) only/&aa (C) 311 (D)
(d) (A)and (D) only/&ae (A) 3 (D)

TG 41 AR 3 99 fagr @ w1902 §
fran S foara gomm: @ a el R @ g-
FH & U sfema fFar ™ 959 9UR 3 TR
foream & v & ae I off SR feU €, Se-weEi
¥ oree, mEnR % g SEer @t ang @,
feemge, W fREm adrsiERr = fame ek

24.  Which of ‘the.following faunal groups has the
highest percentage of endeermic species?

® frw witreme wog § wfe
YAy T watiires gfeavra g2
(a) Amphibians/3%89  (b) Birds/T&f
(c) Insects/&HI (d) Reptiles/S{gy
Ans. (a) : IV WIS ®9g H RS Senid @0
Taifs Siowe 21 3 59 9 oo 2 § ® §Hha @ 3%

T = A (Veniien) BN 21 3 Sramard Wi 8 g
@ e & §) wigy s wem b g

foe ok T o | T @A g, WIS
R ¥ = 2 &)
25. Who among the following gave the idea of the

origin of monsoon in India?

frfafes # feest aw & o @t Sl

a1 fer=me fean?

(a) Al-Biruni/37e-fa%+1

(b) Al-Masudi/3Te-5g=1

(c) Ibn-Hakkal/3=]-ghieT

(d) lbn-Khaldun/z=7-@reg
Ans. (b) : 3F-T9& 3 G F O
feam am sr-mgd 3 gt S M o S e & &
TN IR AME H @IE (Feha GOR) @ A gars
& Ui Uw Aren e & g F i 9 3 9
e el 4 o o 3= fava A 14 ey s §
fae foran an) ‘TAE-qUw-370 -2 $99 WE U9 2

ns/ATR el SR RETEA H L

Ans. (b) : ITHE SR SEAT & T A0G SoargE ﬁm
{Ans. (¢) : 7@ 3ik Twam 7 27 el @au &7 = I

26. Arrange the given regions/states in ascending

order of wind and cvclone damage risk zone:

e 3R wma 9 g aret & T e
= e @ o Prafefaa gEiAas @
HUEg Hi—

(A) Eastern Coastal plain/3ei 713
(B) Rajasthan/ArSi=dTq
(C) Most part of Maharashtra (% ™
TR & S g,
(D) Karnataka (excépt.goastal area)
FAeTH (TEIA,87 @b Slg)
Choose .the~cofrect answer from the options
iven below,: * .
%ﬁﬁ'{&w& forereal & & Wl IO @ wEA
{ ﬁﬁgﬁ_
@) (A), (©), (B), (D)
(c) (D), (C), (B). (A)

(b) (), (B), (A), (D)
(d) (B), (C), (D), (A)

w9 39 T -
FAledh (T &9 H BEH) — FEE H ARHR
W—}W—V{cﬁﬂﬁ'ﬂﬁﬂﬂl

27.  In which month, the maximum extension of sea
ice is found in Arctic Ocean?

amdhfess AR B fEw wE ¥ Wl @ @

atftraraw faraTe araT wrar &2

(a) December/fGHmEt (b) Februaryffﬁﬁff

(c) January/?iqﬁﬁ (d) May/‘ﬂiﬁ
Ans, (d) : 3HCH TOR H Wy WEM H OYE % @
AT R O S 8 | STEhies HEER Ay au
3wl i & frT gan €1 @8 ¥ W A% § 9 @ g,
s w1 3R Freffade waiwiee suftam 21 8 &
qul #§ SeaTg URatA & HRO % & A6 § 9 o 2
HEeF & a7 OF B 9% § @ Ot S, Jvireads,

sforera a6 fea s 2)

28. The line of equal distribution at 45° used for
measuring inequalities is called :

AT & AU & U YD S W aret
45° St waT fEraTor TET S4r HEerar €2

(a) Scatter diagram/f@=ivi 3m@

(b) Histogran/3mad

(¢) Lorenz curve/@iial am

(d) Ogive curve/3NTEa IF

Ans. (c) : STTAFSHT & TG94 & 670 ITGM & S areh
45° 3 T faeor TEr St AT o Sed 81 Al 9%
A I & oy aula & 1 30 U e
wofoTE G Wi 2 an 1905 § fasfd faan mm an
77 TG SfiS o | TAEET a9 FER 3 W I &

FA-TEA F FI@ 79 T TER T~ Tufar @1 3mad f¥F (Histogram) TR SRERAT s
(1) ferama-ara-fea F WA F F A T AN 8| T NS A &
(2) -~ 37 Fg fT UF wEEd oA A1 W S S 8, ferwe
(3) forea-rei-&ea R HA STOERE 1 FAIE a2
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29,

Match List-I with List-I1 :

Telit-1 < e geit-11 a1 e Sifm—
List-1/=f-1 List-11/g=f-11
Goals of National Items/
Water Mission/
S g
& T
(A) Goal-1 (I) Basin level integrated
water resource
managment
-1 Me-wta g
HEYA S
(B) Goal-2 (1) Attention to vulnerable
areas
52 T 8 W ey e
(C) Goal-3 (III) Water conservation by
promotion of citizen
and state actions
wg-3 TS @
frasil &1 dgar dE
e G
(D) Goal-5 (IV) Comprehensive water
data base
’&g-5 O olel Sl MR
(TeTaH)

Choose the correct answer from the options
given below :

For R T Rreedt ¥ ¥ WE I & wEd
waa—

A B C D
(@) I II 111 1A%
(by 11 v 1 11
(c) I 11 1 v
(d) 1V I11 I 1
Ans. (d) : T gHie I 36 TSR -
T el 11 g
& Ted
(A) | i&3-1 HHI ST ST 3THR (S1eT
a4
(B) | w2 TH R T &
fopamadt 1 SeEr S W
T
(C) | wea-3 T & W fave &
D) | w35 TowE Thga o
U gAY
30. When a manufacturing firm locates very close

to its raw material suppliers or to supplying
finished products, t is termed as:

T T 37U IMfaehwisT aerar
I Tog og 31U IEr & a:ru'ﬁ-‘r AT E &
g T frore §Y, 79 W ot W 87

(a) Urbanisation economies/AT{ refoar

(b) Internal economies/3TdRe Fdegawa

(c) Marketing economies/fdqu 3idegaang

(d) Localisation economies/THIIeTul efaawr

Ans. (d) : 99 U fmfar s A 3 3gar
ST T S I @ Syl e @ % wgd e Rew
8, @ I3 wiasT rderawn &3 a8, H6-
fafgsa @& ¥ cfs Ffsm 3= a9 3Em
sitafem &1 @ 81 wEd svderavand @@ 3|
B §, I TR F HER ¥ IAEEA ° ghe ot a1 o
ey viElier srdeAaes @ WIE SARW €1 "
srdferawaT 34 s FaEl & fFued &6 8, o
IqEE  IquH & g awga au dai & ¥ @
frgma &t €, S9- S|

3l.

Cirques are landform of ;
- 3N T Soft ¥ ama ¥2
(a) First order/Sad siofy
(b) Second order/fZda St
(c) Third order/gdi@ goft
(d) Fourth order/aqd Suft

Ans. (c) : U g-3MFHId Farg Hil & Iedlad g1 e &l
ICIEE W FAT-HGT AW (Corrie, Karc,
German), CWN (welsh), Bontnaid jedel
(Scandinavian) ¥ 3ififea fohan smar &1 o-angta iLcEn:v
& 3Tia e Rl 9 a9 I=EEel @ diF S
T e -
| (1) | sm goii TR 71 HEHTR
2) | fadm st | wdw, w91, R, dF, @
(3) | gaE = (@EHvse § IUA 99— i,
yaq, femae wd wRfewre) amo
I WA wd fEqw @
S sl &l RS @l
e fan s 2
32.  Which one of the following exert maximum tide

roducing force on the ocean water?
Prorffas & @ @-mr T WgH A W
ANTHaT SR IAH I aTelT oA Srerdl 87

(a) Sun/qd (b) Moon/a=H
(c) Venus/IH (d) Mars/HTa

F0 3 8 7% & a9 I o -
(1) FHIHRT 59 (Centrifugal force)
(2) v T (Centripetal force)

33. Which one of the following in the correct
sequence in the development of German school

of thought?
w7 faemu & faem # fafatges § @

HI-HT Th HEl A &2
(A) Ratzel-Paschal-Hettner-Troll
Tod - g

Y kY

UGC NTA NET/JRF Geography Paper 11, 2022 (Sh.-11)

439

YCT

Scanned with CamScanner



(B) Paschal-Ratzel-Hettner-Troll
IR - o -

o

(C) Ratzel-Troll-Paschal-Heune;
T - 9 - T -

(D) Troll-Paschal-Hetmer—Troll\
A -

(E) Hettner-Paschal-Troll-Ratzel
§2EM - Uwd - 7 - T

Choose the correct answer from the options

iven below :
S fea & faswhedt & | WE I @ @
it —
(a) (A) (b) (B)
(c) (C) (d) (D)
Ans. (b) : 5 foemym & fE@ & wiecaet & G
9 39 TER E-
T — 9 — TR — @F{
Which of the following statements are incorrect
ahout the growth of tourism industry in the
world?
fva & wdes som & faem @ wEfuw
freferfas 8§ & 39-8 a7 /T &2
(A) Steady growth in real incomes of the people
in the world has contributed to growth of

touris % fawm d fawa & @t &
arafas o™ & fafta gfe &1 amem @

(B) Increased desire of the people to experience
different cultures and landscapes has
contributed to tourism growth over time

fae 4 fafim desfil iR aigvE &
mﬁ%mmﬁmgémm%
W 2

(C) Many countries have heavily invested in
development of tourism infrastructure to

encourage touris NEEd 2 &
foe &3 it A when g sTuTem @A &
foramer & wrdt fraer fopam

(D) There are little range of destinations open for
the middle-income group travellers/JeAHq
- & Al & e wdewe @ 5em
it 21

(E) People from developing countries
dominate the global touris

fasrasfter 290t & <l &Y /@ yuEar 21

Choose the correct answer from the options
given below :

fi2 2 T e § @ W Ie @ =9

-

(a) (A), (B) only/Faw (A), (B)

(b) (B), (C) only/&aw (B), (C)

(¢) (D), (E) only/&aw (D), (E)

(d) (C), (D), (E) only/&ae (C), (D), (E)
Ans. (c) : favg qdes 3am & faom @ @i & 3 o
frafia gfa 3t 7 awr vden fawm & fafm dopfaal
iR oRgydl & SFE FA & o Anii F agdt g g
F RH W 2| SOHF § gded F Nied 3 & g

34.

now

2 29 3 vdea gl smom = & fEm § af
21 9Rd § 2018 ¥ 10.56 fuferas fash
(5.2 irwm &1 gfe gf) o 28.58 faferam
IARE TR i R @ onlT @ Wy wded & @
3Te1 Frsaed R @1 ¢ a1 uA § 29 wdied i T
FA At ¥ 757 dfterg, SW NN, Sl aur I
W & WH @I

35.  Match List-I with List-II :
i1 & arer gEi-11 & frer sfm-
List-1/gehi-1 List-11/g=-11
Spectral Band Principal Applications
At 3 T
(A) Blue (I) Vegetation Stress
Analysis
e CEic]
(B) Green (I1) Differentiating soil
from vegetation
& ga-faig
HTAT
(C) Red (11) Coastal Mapping
e THEAE H
(D) Thermal (IV) Vegetation discrimi-
nation
i
Choose the correct answer from the options
given below :

H2 2 T et § @ v oI oW A
£:3 1 i, o O

A B C D

(a) I 11 11 v

(b) 1 v 11 I

(c) 1I v 1 11

(d) IV I11 1
Ans. (b) : TEl I I 39 FHR €-

WaEgHt J8 TET T Thy
(A) | Hren TAE & A
(B) | &1 JATId favera
(C) | = FTed € ga fadg &
(D) [ @@ I e [ayersu
36. Which one of the following refers to a

relationship between a cultural group and

natural environment?
q & g 3

WIehTeich ATATATUT & der ARl hl aarar §7

(a) Cultural ecology/Sishfteh TiRfdgfte!

(b) Cultural convergence/®itHias e

(c) Cultural diffusion/®ithfa® fagwo

(d) Cultural hearth/Hishfaah &4 (hearth)
Ans. (a) : Sephin TR S T8 A THE
TRET & @ FE @ aam g1 i
TRitafaet’ 7= @ ofime § o & fou aar s&
TRftas & & @ 99 gea fage gieas ©ieE &
fer swr 2, frdin 4@ wmga & fav 5w fhe wan
vafarwr & fafte w4 F @iy avEea =fd S 81 3.
dFer FE et & dvewhy wefErs & S §
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vighe vRReRa @ fsta o @ g
Wire 3 Wl @ g § e O @ T @)
st & elq ke shmw & doid F e
Hare W e S @, Rred 9% gea, faargw, e,
e it ffa-Rare snfX &t sfifd fear s 21
37. Which one of the following states/U.T. in India
have recorded high decrease in infant mortality
rate during last 3 decades : _
wRE W 7" 9 fem w
T /&Sy w2+ frow 3 et & I
forgr 7 =X W wEw srftre e 2 @2
(a) Jammu and Kashmir/&9 3t St
(b) Uttar Pradesh/3w 5891
(¢) Tamil Nadw/dferg
(d) Madhya Pradcshqu BEa|
Ans. () : 9 ® ot 3 I & o

Who among the following were the believers of
Environmental Determinism?

- arEiE Preeaarg
W fayara @ 4?2

(A) C. Darwin/®. €9 (B) Humboldv@=iee
(C) RatzelAesid (D) Semple/dae
(E) Blache/asifa1

Choose the correct answer from the options

iven helow
%%ﬁ&@ﬁm’fﬁﬁnﬁmww

(a) (A), (C) and (D) only/&ae (A), (C) 3T (D)

(b) (A), (B) and (E) only/&aa (A), (B) 3t (D)

(c) (A)and (B) only/ﬁﬂ (A) ak (B)

(d) (A) and (E) only/&ad (A) 3T (E)
Ans. (a) : ﬁwﬁaﬁﬁmﬁ%w—w%m{d
Frd-Fem wFhE gatEm zw Pefe iR, o
w& aren wai & g F @ @ 91 g5 & e
frafar & y@ sads a9 a9 fid & FHe q
s g Frafer & sk Tds §. ToA aw S
(3rafRa), uwaad, e, 4. wfe g1
39.  Given below are two statements :

#or 3 maT e T £

Statement-I:  The process in which one plate
slides beneath another plate is
zone of convergence.
Sea floor spreading becomes
more prominent along the zone
of convergences.

Statement-1I :

"
maqﬁaaﬁmaa § ol @ 21 R
fag o 1 = ﬁuﬁrlmoaﬂﬁﬁ—-ﬁ = e &
a1 af mmﬁmmaﬁw aﬁaﬁ‘ﬁw

wud (1): A 89 a8 afear 8, el
QT gE Wie & A1 fggs T

YA (1) : AT 47 % AR WYX STAd @
el e o & I

In the light of the above statements, choose the
correct answer from the options given below :
U & A é‘& ™

¥ ¥ Il IUGTH I A oA uﬁﬁsq—

(a) Both Slatement [ and, S{alemen! IFare true
HYA-1 IR BT EN e £

(b) Both Statement land Statement I1 are false
FA-1 3R GF-11 a1 39 21

(c) SMEment 1 15 true, but Statement 11 is false
AN &, AT FU-11 e 2

(d} ‘Statement I is false, but Statement I1 is true
-1 575 3, Ao HF-11 9 2

: T U w2 g0 w2 @ A 49d € S |
g @i Fward &1 98 WA
(Sub duction zone) 4t

I gu 3

3

o4

ST we T €, I WE ¢ 5 FE-l HRT T
Qi s )
40. The concept of Lebensraum became popular in

the discipline of political Geography after the
publication of :

THET &l AU T-iae 9ie o g
Y & WV & @1 aﬁ:ﬁaﬁaﬁ‘agﬁ
a) Making Political Geograph
e
b) Geographical Pivot of Histo
) e wee o fred
(c) Cosrnugrapy/ﬂﬂ?ﬂm'qﬁ
(d) Politische Geographic/difefesT Samame!
Ans. (d) : AW (@A & W) # FTEON TS
¥ dfefew S gEE & YEE & ag ifes
g1 Afvet 3 wdwew 25 adl, 1904 H TE
SafRa W & w9 TS e yegd 6 T,
e ¥fds a- The Geographical Pivot of Historry'|
mﬂﬁﬁﬁqﬂmﬁmmﬁﬁgmﬁmm
78 & uvEd 1919 § iR @ R S
'Democratic Ideals and Reality' SRTA &5 1 33 g 4
dffuet 31T ‘§ed W fUEr (Heart Land Theory)
yegd e ‘Fhowie’ gl @) waivs weEpl g@s
2, S 1845 ﬂ 1862 %mwmﬁﬁmﬁmgﬁm

41. Identify the terms associated with ozone
measurement :

W U W Eg RS yed @t
TESTT Ti—
(A) Dobson/2iad4

(B) Spectrophotometer/Siag HIeHE
/AR

(C) Pyranometer.
(D) Planimeter/SAHIZT
(E) Anemometer/UfHdZT
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Choose the correct answer from the options
given below :

der & ™ fawed § @ e I W AT
Hifaa—

(a) (A)and (B) only/&ad (A) 3 (B)

(b) (B) and (C) only/&ae (B) 3R (C)

(c) (A) and (C) only/&ad (A) 3K (C)

(d) (D) and (E) only/#&e (D) 3R (E)

Ans. (a) : 3N & WY @ TEg T SrHd qdl

Waglehfiex Fiex 21 39 wWa gt F agvew |

e IS 10 # us daen 2, st gF T sl

efvers weaT Rl @ wn % o sag & e

FA1 2| T 3 HgwEqYl YT 37 THR §-

() | @i | g8 wefE W gEsnd v @ @
@3 2

(2) | sHftEniER gamﬁamgﬁmﬁmwzia
|

(3) | snfiex Tg EE T 1 TH 49 2

@) | | s99 9 % saed a9 @il Ren
&1 fyufcor fear s )

(5) | urEuiEx g%:ﬁamwﬁnmrﬂqaaﬁa
|

(6) |wmAnier | T 3w T e & At
9 e s 21

42. The term which describes that population will

continue to grow even after fertility rates
decline is known as :

9 Vg W aftre oear § foh o= ot § fnae

& e Wt wwEEnm # ghg @ Wi, a9

wgeAT §—

(a) Demographic momentum/S-iRgaa T

(b) Demographic transition/SFHIRET®HE HHAUT

(¢) Rate of Natural increase/SThfi® gfg ot &

(d) Rate of fertility decline/

S e § e # &

Ans. (a) : SAHIEHY T G S 8 15 o o J
firrae & o f sden § gfg @9 @h sAisEe
Geraur 1 fagr @ e =g T, amuEa (1929)
T T gﬂﬂﬁaﬁh(l%ﬂwﬁmww—-{ﬁ
SFifHE GHa0 dF et Al a9 Sifen a6
TRIET 3 39 Rrer & s w gu vl s &
UReheq T S, S 39 YER 2-

(1) | v am@en | SR 3R gegeR QA & sew
g ¥ udt i §)

(2) | fexia sraen | S=7et 3 091 Gege & |

(3) | ol o | ST T g W WS
&

(@) | 9 smen | oo W@ g I @ & en B |

(5) | wiedt st | Foomene gfe < srawen

43. The GIS based map can be :
Wt 3 T M wEtaa

™
1 femam W Wehar g7
(A) Updated/37eIa-
(B) Edited/Fmafen
(C) Displayed/saf¥r
(D) Vle“t‘d m oogle web portal

Gﬂ'{ﬁlﬁl |
Chuuse the correct answer from the options

VT s PPN
ITGTH I @
T ST —
(a) (A) and (B) only/&ad (A) 3K (B)
(b) (B), (C) and (D) only/&ae (B), (C) 3K (D)

T Fnefefay @

() (A), (B) and (C) only/&ad (A), (B) 3R (C)
(d) (A), (B), (C) and (D) only/
(A), (B), (C) 3R (D)
Ans. (d) : FFH & “fiiferes w3 fodl

Wﬂﬁwﬁﬁaﬂﬂﬁ‘?gﬂm mm%aﬂl

SIS0 Sl HrEed Ui a9 21 GE|
% "ege § radd, 99, ﬂﬁﬁﬁmwé&’?&g

T =1 w2 97 TS W g 2, 91 site
% wor, favoiur st sgieRn %—ﬂ i 3 81
wwﬁﬁanﬁnﬁmmﬁa A H FGR

waﬁaﬁmﬁmmémﬁﬁﬁﬁmmﬁa‘rm
& atfergT A 3gATT S 8-

(1) TR Sfemme (2) 9T wfemr|

44.  Who among the following scholars applied the

r
formula PI=\—’!— where PI

= Agricultural
n n

productivity index : Y = Total production of
selected crops in unit area; Y, = Total
production of the same selected crops in the
country, T = Total cropped area of the unit; T,
= Total cropped area in the country for
measuring a‘gricullural roductivity level.

ﬁ@ﬁ:a?cnaaﬁn
T A Y G m—Y 3 T ot v fomarr 1,

& Pl = q—:ﬁrmmv ThIS O

g wwel & & SAET; Y, = 39

aﬁ?rmﬁim%wﬁmm T = @18

815 3 Tt ST e wEel oS T, T, = 9w

U el &IAthel Wal Wil oIS T3

(a) Bhatia/sfean (b) Enyedi/T=f%

(c) Weaver/dst (d) Shafi/¥rat
Ans.(d):Wmﬁﬁmwméﬂﬁﬂqj

= FW IEHA
qaSis; Y = 3908 &9 S @ o IWE; Y,
=a%’i§ﬁzrwﬁﬂ§1ﬁ? mm?;{ T &
¥ g é?mammﬁwn‘s‘ = 39 § g &A%
Gl's‘l Wﬂﬁﬂ#l?ﬁmwmﬂﬁfﬁﬁdﬁm

H.3%, 9mE, PR au §eee ek fagei @&
TETIqUl e 2
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45. Whe among the following described geography

as the science of map makin
Preerian & o e S T e

FarsT 3 W i s R

(a) Thales of Miletus/deq 3ife fifereq

(b) Strabo/&aT

(c) Hecataeus/feehfeas

(d) Cladius Ptolemy/fead il
Ans. (d) : Ffeay el 3 T0A H AARE FFH &
s & ®u § aren fFan el s wem @nenet
g, it @ie wre @ wihg [Es e’ @
ot SewT, SFEEUT G GEA gW el F T
e, mﬁamaﬁtmﬂfﬁa%éﬂww
ameE e et oo e TS §- Samiead
Hﬁﬂqﬁwsﬂt@ﬁmaﬂﬁléﬁﬁm%wﬁaﬁ
17 QUEl a simfes favasy § defea e o, fage
™ e @ ow RERm @ o W=
“fifettew’ & @l # 520 4. # yHRE g5 N T

3 @ ‘gedi &1 aui’ |
46. The outcome of Kyoto Protocol 1997 agreement
was :
el Weraid, 1997 WWHd & &1 URumH
ar?
(A) 5.2% cut in emission of carbon dioxide/
FET TRHFRE & IeA F 5.2% A

(B) Agreement can not be invalidated/
& 3T T A S e @

(C) The protocol was to be effective from 1997/
gg Wielshid 1997 & Sl & =1

(D) The protocol was to be effective from 1999/
78 SIerEa 1999 & ot g 4l

Choose the correct answer from the options
given helow :

o fed T fawedl § W Wa® IUGTH I H

T SR —

(a) (A)and (B) only/3ad (A) 3 (B)

(b) (B)and (C) only/Fa (B) 3R (C)

(c) (A)and (D) only/&ad (A) 3 (D)

(d) (C)and (D) only/&dad (C) 311 (D)
Ans. (c) : el SEH@ UNFCCC ¥ 21 0% e
argiar 8, W =T ® { aEEl IeA w2
el @ Wi ¥ wfEae w21 T MR SE &
= § 11 Rmmr, 1997 & wARE T TR SR
1999 & wurt A1 o1, Afd T 16 H@Ed, 2005 I
FEYE M| e Wedia & havaad | gEte
foega Fraw & wusw (A=) 2001 F COP-7 #
3TN AT A, 3: TH TS GEiar 0 FEd 31 Fhel
Seisie & 3TTid -1 & 29 @i 2008-2012 F =i
3 B TR H F Igeq § 1990 F R Y 5.2%
FeIA HE 4

47.  Which of the following atmospheric gases has

not been relg%ented by correct symbol"

#w wEl welteh

B T giiar e g
(A) Neon - Ne/fF@i7- € (Ne)
(B) Helium - He/fiferan-wa £ (He)
(C) Nitrous oxide — No/

TEET AfeEEs-T 2 (NO)
(D) Krypton — KR/fFu2a-% 311 (KR)
Choose the most appropriate answer from the
options _given below :
?%,ﬁ oy T faremedt

T HirAa—

(a) (A)and (B) onlymﬁ (A) 3R (B)
(b) (B) and (C) only/&ad (B) 3 (C)
(c) (C) and (D) only/ad (C) 3 (D)
(d) (A) and (D) only/3da (A) 3R (D)

T § Gy IUgwh I &

Ans. (c) : VS TH & Hel Fdle (g =14H-Ne,
fefan-He, =mgw  sfiemse-N,0, feem-Cr @
Mfew sfFmEE-No a2 ¥ argmvead =t $ wewayl
T 1 59 ver -
IS (N,) 78.8%
SIS (0;) 20.95%
AT (Ar) 0.93%
FEA ok 3adRe (CO,) | 0.036%
1AM (Ne) 0.002%
feferam (He) 0.0005%
e (Kr) 0.001%
S (Xe) 0.00009%
BI5gIeH (H,) 0.00005%
48. Which of the following is not an appropriate

strategy used to promote qualitative research

validation?

U YT <k YHTUTGRTU i @@ral < o g

frafafae & & sE-wr wiifa suges T8 7

(a) Peer review/aqehell THien

(b) Triangulation method/F¥s v&fd

(c) Extended fieldwork/fa&ied e

(d) Random validation of assignments/

a1 Igfas e
Ans. (d) : TUTETER WY & SACIEOT i GgEn a4 & g
Taerd = Agfeos TN ST A9 8, wa aee
ardiey, e wefi o fomaifta &aard Tones W &
foT Iugw @1 wiee el & 99 T ) YER 4§
e s 8-
(1) e wferergs,
(2) 3aeRar faeaa|
Wiada wfawaa wwul 4 wWe agtes, wmEE,

Wi, T=o, T|gAEHE @ Gl sfeeT & 5@ ww
? a1 FWiaEw Sfwaa & 3ot deva whiwad, e
wﬁwgﬁm e sfea e e & aeeg
T §1

UGC NTA NET/JRF Geography Paper 1, 2022 (Sh.-11)

443

YCT

Scanned with CamScanner



49. Which one of the following explains rapid

growth of information and technology industry

in South India as compared to North India :

3T WA i qoET T ST W | e 3

wefiret SaiT @t dig gieg @ Fafafaa 7 @

I Ueh SATET AT &7

(A) Good Governance/¥ITH

(B) Good infrastructure and network accessibility
IS IFFHTI S A2 e

(C) Large number of higher technical institutes
I Al GEEl &l 3ifte dem

(D) Lower Labour cost/f=1 &1 @ma

(E) High proportion of manufacturing workers

FHIRI &1 I=d A

Choose the correct answer from the options

given below :

Hrer fodr T faweul § | wd I @ wud

Hifwa—

(a) (B), (C) and (E) only/Faa (B), (C) 3T (E)

(b) (B), (C) and (D) only/&daw (B), (C) 3 (D)

(c) (A), (B) and (C) on]y/au_dﬁ' (A), (B) 3R (C)

(d) (A), (B) and (D) only/%u_cl?*r (A), (B) 3R (D)
Ans. (c) : 3T URA & g1 § S0 GG H g1 3R
stenfiedt e @ dig gfs gemeE, st steEREm sl
Jeadh GAWd Ul 3T aE-El Sl & U §E &
FR g §| A F A, s, e, O, O,
W & e % 8 7 TAREE AV BN dE
& 9 wan “wfatE TaER & e S 9
foram T 1 Fel Wiowam wEtE @ G waitE (300
T i) &, B 50 Ffya §1 39 9d &6
Rt o ff w71 i@ 21 fave d v R
TN FE & fAHH Ugh Uog SR § 1946 H
& Ryd F R S T @, s R F -
oI o famm 1984 § S g
50. The term "Anthropogeographic" was coined

by Ratzel in his work :

' ' Y @t AT Yeue g

Tk TohE wrE= o @t TE?

(a) Study of harmonious reciprocal relation of

man and nature/TI™ 3 WHR F wmiwEmyf

UREfich Ta- &l 3Teaaq
(b) Geography of man in terms of individuals and

races/&fh 3R wefedl &% =Y § WEa @

(c) Geography of man and his work in relation to

T & UF Ao gheai wifud fRam o o e
femur & wr@ v Frafee, e e @ e,
T & Jfam Ram a1 gieplis qgvd @ Hehew
g 39 SR E-

(2) AFEsIY & SR
(3) A WA @ & SE (4) Al & RS e

51. Which group of countries is known as the

emerging markets?

o T g = 3 g 99N & B H @
EIG1IN-Y4

(A) Taiwan — Japan/digd= — U

(B) India — Brazil/sRe - sTsitet

(C) Russia —China/&9 - 9

(D) Russia — Chile/&9 - faei

(E) US.A. - China/g.Ta.T. - 44

Choose the correct answer from the options

iven below :

e I e G

) ;o

(a) (A) and (E) only/&ad (A) 3 (E)

(b) (B) and (C) only/&as (B) 3R (C)

(c) (C) and (D) only/&aa (C) 3 (D)

(d) (D) and (E) onlyﬁﬁa (D) 3t (E)
Ans. (b) : TRA-FeIA Ud &H-9H @l I gU AT
F oy § FF 9 2 YR US i, e 3R
e Fafawm & 2w 21 1990 @ TS B LEAW F
i QURl & T I, T 3 AU G2 dEEEdn F
el St s F Tsa-weeE Afadl S g FHE IS o
Rea Ay, T sorEE Aot § 9ed W 9 5
W 2 gdTa e ¥ wra faw @ ool wed @@
apfepae @ vafs faw & ga9 g anfoaen HAT
ug.u, 9, suE, s9h qan gEEds frew 2
52. Who among the following challenged the

theory of 'origin of species'?

‘oftfitfe ot ‘@f%ﬁt—r’ @ URSeaAT @

frafaiaa o ¥ fae= g 27

(a) P.E.James/9.3. Si=m

(b) De Varies/fg a0

(c) H. Robinson/td. Ul

(d) K.K. Park/&.%. Ui
Ans. (b) : ‘R 36 Weie H 9ReeT @ (8,
309 3 T & & offefis @ § Ol el &
3AN- Slfadl 1 359 T A &l
sfraral g g 1 gWeh faude (yenfodl @ s
) fz. 3 3 yofedl F 39w & fou @e: IfE
s Sfefaswrdl wRada’ swiq o1 wRada &t daew

carth surface/"5a 3 30 F F1 Jot WG | (o wfowrer Foan 21 g0 il 1S9 guEE @
& Feaf f A & g weiferdl & 3quad Y G Nhhar W 2
(d) Organic theory “fé%;“)’ and state 53. In which of his book in 1919, Mackinder
WEWH Rrer — rechristened his concept of 'Pivot Area' as
Ans. (a) : TUNIAEThS: W @ @A Ead gl 'Heartland': _
T 3R YER % Ay IReRE g & e 1991 7 gft (ugame) &5 @ e
F w7 7 # T ¢ am 3= e 7 sifew i & Eumunr & ‘g wvg' o few gwew O
TR 91 s a9 B3 99 #f ot @ 1 w1 QAATHERTUT fehan?
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(a) The round world and the winning of peace
g T3vE Jee e § fafm tﬁa
(b) Foreign Affairs/@it &ﬂm‘ﬂ'{
(c) World war and Geography
gcs R WS
(d) The democratic ideals and Reality
aEfear we R
Ans. (d) : r&mﬁr 1919 ¥ ofi (UEaR) &7 H AT
FEEWUT W FE ve’ & T SuGHed EREA WE
Raferdt’ # qimaw R At & srEn- s gl
Y W VEA HON, @ §ad Wd W ANER =it
m,aﬁmwﬁmwm agt fava & i @nd
e S frve €y W@ oo won, @8 R e @ e
SR § w A" AfFe A I WA 56 N -
1) faesr s ffrwr @vm, 1902
(2) sfoerg & dtmie g8, 1904
(3) AiHaiE ey @ qurd, 1919
(4) T i s fawa, 1924
(S)ﬁaﬁm@wﬁrﬁﬁ—a 1943 %
54. Which one of the following cluster reglons in
the world are great clusters of population?
| oS T A
FAHEAT T T G §7
(a) EastAsia North America, South Asia, Africa
& U, S0 SR, R o, S
(b) East Asia, South Asia, Europe, Central Africa
uf¥rn, efT uften, 40w, T S
(c) East Asia, South Asia, Europc North Africa
ud uf¥ran, & oy, 40, SOl sehte
(d) East Asia, South Asw, Europe,
Americafi%’ o, s R, @,
fE
Ans. (d) : §3 QUEl, &0 Q@ 409 adr I
Iifie fave & wad 98 SO TRl 9o a9 o
39 o e & oid swoen FaRl T wRY W

THR g~
B

—

North
Fad

=EEAT 2019

(Prferr )

ITShichI
el

1308
4601

(M
(2)

(3) | 3ud 747

Tile 3THNel Ug hdEdn 648

(4)

FAd AHRH 366

(3)

EiTED 42

(6)

55. The term peneplane denotes to :
‘Ut yree gvTiar -

(A) A level surface formed in the old age of a
fluvial cycle/fFdt 789 =% & ggEen d
fAfda wade o

(B) A level surface formed by wind erosion
99 e § fAffa w9a wag

(C) A level surface formed by marine erosions

HuEA 4 ffda aoda gag

(D) A level 5u:face I‘ormed b§ meeung of ﬂood
plamﬁw

” ‘_sﬂfﬁﬁtﬁaﬁaﬁmmm%mmm
'-Eﬁﬁﬁq%ﬁg%mﬁvﬂmmélé‘m%

= | (G &t st yordt aar o F@ 2 [ 9% & 3

(E) A level surface formed as an end product of
erosion/3TEA A A Iar ¥ fAfia wwaw

Hrg
Choose the correct answer from the options

given heln“
T Rt F F Wl T w99

Sifra—

(a) (A) and (E) on]yféﬁﬁ (A) an’ﬂ (E)

(b) (B) and (C) only/Fas(B), i (C)

(¢) (B)and (D) only/ai'ﬂ?'l (B) sit (D)

(d) (A) and (DYenly/&=d (A) 3T (D)
Ans, (a) : TS\ Rl € W @i geeen |
fafifa e, e, eTwe 1 g Iae 9 fife goaa
we N\ Sef w81 gdven 2w weiea 3 1899 #

“EEY WA, YHE a0 TG & e dar g1’

ITEA T I A IEEy S 9 sioigen § ffie
Toae dem @i 2few 7 e (T dam) & AW e
3 1933 1 fred 3 W F TheAavE & ®WH W

1§ ¥ T awee S ffifa g 2

56. Given below are two statements : One is
labelled as Assertion (A) and the other is
labelled as Reason (R) :

T wuA fod - U ATAHTT (Assertion
A) & w0 ¥ fafga €, @ TE0 3WH @R
(Reason R) E RSk

Assertion (A) : Fiord is not a suitable location
for a port.

Fiords are drowned glaciated
valleys with namow deep
channels along the coast.

arﬁ:m:rm):gmémﬁmiﬁmgmmmmﬁ

Reason (R) :

|

fiite P fevafa ofead 2@ €,

i ae & fFm d@F wwd

et &t €1

In the light of the above statements, choose the

most appropriate answer from the options

given below :

I+ wAT & aneie o, e 75 T Rt

# & W UG I E AT HRAC—

(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A)/(A) 3 (R) =
T#@ § 3l (R), (A) B T8 == 8

(b) Both (A) and (R) are correct, but (R) is NOT
the correct explanation of (A)/(A) 3l (R)
?’—ﬁ%ﬁ% AT (R), (A) I w& = 78

|

(c) (A) is correct, but (R) is not correct/
(A) T 2, AfFT (R) 981 8 21

(d) (A) is not correct, but (R) is correct/

(A) W& 1 €, dfed (R) T8 2

& (R) :
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Ans. (a) : 704 & forg, farE

2 agaga § Ul I €|
I (A) 3 (R) a1 W@ € 3 (R), (A) T T
AT 21

57. The correct sequence of the states in ascending
order in terms of Mangrove vegetation

coverage area is :

% wald o @ ;e A
frefataa Tl @ AR W H W

(a) Goa/Tran

(b) Andhra Pradesh/3T=1 LE]

(¢) Odisha/ifeam

(d) West Bengal/9i=m ame

Choose the most appropriate answer from the

options given below :
F2' B8 mh e § @ wh I @ T
Hifaa—

(a) (B), (A),(C), (D)
(c) (B), (A), (D), (C)

(b) (A), (B), (C), (D)
(d) (A), (B), (D), (C)

Ans. (a) : TETHIY, TR UH duiE SUET g
safE Tad T R ofael @ g dfvaw fafEo
e @ maryd 81 R of aw # a W g a
fafeoT (S) 3 B 4 @ aed WEdd @ S @S9
STafE Fed &, 3 YAve § oI fha 9 @1 39 WER
yeft @ sitea werEl 30 Showa o 8, T 39d 29 3
34 YA F T SoR-ded Al A &1 I W &
sAfaE!, - T 7%, 9 6%, T 16%, TH 76%
JoT 371 TR W 73% @ 94% & 4 g 2|

59. As the wave approach coast, the wave form
changes radically. Which one of the following is

correct sequence of changes?

FR-3Q TOT 9 F 3 A §, Tk ©U A
amger aRte= B e &1 uReeE) @ wE we
Profafea o ¥ 39 872

(A) Closely spaced crests/@% 3Tt ar &

(B) Wave breaker/fiT T

(C) Swash/IgHET

(D) Back wash/9%d #7941

Choose the correct answer from the options
given below : .

Fa fedr T fawedt ¥ ¥ T S @ wEA
Fitwa—

(a) (B), (C),(A),(D)  (b) (A), (D), (C),(B)
(c) (C).(B),(D).(A) (d) (A).(B),(C), (D)

Ans. (b) : YA § T a9 4992 & fHHT, &IHA § et
3 i aefa o SME & gated S 3R e
¥ 70 &1 9P 9 &9 § 92 9 W 9l 9 g1 v
2 gt are TS S 9 39 WK 2

(1) 9. I - 2113.77 97 f&,

(2) TR - 117507 = fafh.

(3) A 3R FeR - 616.45 3 L.

(4) 3Ty W2 - 404.78 T foel.

(5) HeRTZ - 32429 7 el

(6) ifewm - 25898 @ el

(7) et - 27349 fER,

58. Which of the following phenomena are not

involved in global radiation balance?

T ¥ @9 ged dfYasw fafer

Ans. (d) : -G 741 7€ A W TgA g, 375 ©9 H
e TRadA B T @1 A A & gRadH & w
TN HAT: FH AU A HA, T JuSH, IgYE
qyE uET §1 GE @ W A a2 @ 3 SRR
) -9 @ ¥ free 0 I €, 99 @ TS
0 At T 81 59 FRon e S 8 @ @ e 9
el ¥ TTE WA S T §, W 39 6w § T
& TN THEC B ¢ 39 RO Rl HAR IS
T4 TS FH g o 81 WO AT @ S s @
I ¥ 9% 27 & o iR & @ e # S Fw g
39 I & 9o F WO F T, AR A @ Fed @ adl
T e o TEUER o 99 I AR wiear ¢, @ 39 o
W(Backwash)ﬁ'ﬁﬁl

. 60. Arrange the following in order on the basis of

|- o e T - ear of meeting report :

(A) Pyranometer/TEHIET %ﬂﬁﬁﬂﬂ H ITH whew RO & 9d &

(B) Anemometer ST UT 0 § syafted il

(C) Albedo/3Tertet (A) COP-21/4ftsidi-2

(D) Sensible heat/HadEe (B) KYOTO protocol/&aiat St

Choose the most appropriate answer from the (C) First Earth Summit/Sa9 gt e

options given below: (D) IPCC Repot/3TE. 0t &4, fard

ﬁﬁ-& TI'&E _‘ﬁﬁ'ﬁ?ﬁ T & wER I0IH I A C'huus;: Ilhe correct answer from the options

Iven Delow 2

(a) (A) and (B) only/&ad (A) 3R (B) El‘i%ﬂ'&nﬁ foraeat & ¥ w6 I @ AT

(b) (B) and (C) only/&ae (B) aﬂt (C) -

() (C) and (D) only/3aw (C) 3R (D) (a) (C), (B),(D),(A)  (b) (B),(D),(A),(C)

(d) (A) and (D) only/&ae (A) 3 (D) (c) (A),(C),(D),(B) (d) (D),(C),(A),(B)
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Ans. (a) : S@ag Rad § FEfya T4 g geH &
RaiE &1 w9 e yuw gt aieH, @l e,
A R qw dad 21 81 3w wEeE @
7& FAv fave | & fam & g & we gafeofy
T F OWE W T a1 UE IA wEeE e
TA F FE AR g2 9@ &

61. Which of the following statements are correct

about vertical distribntion of temperature in
oceans :

TEENTG ¥ auAe & d faamm & an #

Tefaiad € &9 9 o 98l &7

(a) The sun ray's have no effect below 600 feet/
ﬁoo?za;ﬁquaaﬁwﬁwaﬁémqa

[§ |

(b) Inspite of movement of water, large pat of sea
is relatively cold/STe-§aaA & A998 WK &
& ag1 few steea Se @ 2

(c) 80% of water in the oceans has a temperature
permanently below 40°F/Aermi # 80 Wfrem
el @ AN & § 9 |/ 40°F | FF ®al ¢

(d) The vertical rate of decrease in temperature

from equator to pole is the same/SpTEat@El ®
¥a & AR & auwe § fifee swhn wv ¥

T & R

Choose the most appropriate answer from the
options given below :
Tﬁﬁr fe&r o fammeat

A Sea—

(a) (A), (B) and (C) only/&ad (A), (B) 3R (C)

(b) (B). (C) and (D) only/&ad (B), (C) 3t (D)

(c) (C)and (D) nnlyfaﬁﬂ (C) sk (D)

(d) (A) and (D) only/&ad (A) 3T (D)
Ans. (a) : TEETI &1 Fallts aq9= e 9 & qra
S 21 600 G2 F A gd 3 i @ A w6
& & 7 SA-UeeE § dEeE 99% @1 U 991 e
HUF SUST @ 8, wEih HEEI § 80 WRrvw St
a9 i w9 § 40°F ¥ 79 w2

o TEMNR U AUHIS 1 oiEad, faavur—

o ¥ FEd IUGgTh I &

e (theH) | AUHH (@fewad) | amaw (F)

100 16.0 60.7

200 10.0 50.1

500 12 45.1

1000 2.5 36.5

1500 2.0 35.5

2200 1.8 352

62. The process of evaporation in ocean water is

affected by :

HEETTHT W7 ® aredieRiur i Withar werfaa
BT &

(A) salinity/eTdurdr
(C) seaso

(B) latitude/37&i¥1
(D) winds/qaq

Choose the most appropriate answer from the
options given below :
[ # & gad IugTh SOT &l
waT Wit —
(a) (A)and (B) unly/aﬁﬂ (A) 3 (B)
(b) (B) and (C) only/&ad (B) 3K (C)
(¢) (B), (C) and (D) only/Fa (B), (C) 3 (D)
(d) (A), (B), (C) and (D) only/
&4 (A), (B), (C) 3 (D)
Ans. (d) : TRTENRI, GO a9 #@en § @aur & uE o
e R 9 FRG # asfER, 96, 58 F S5 &
T, Ted, ST O, 3 S9E § g arsdmr &
A ¥ wauE, ey, dew W gEd Swiad e gl
FE TWRA F AR Tl WEEPR F s
ansfiEm @ & 40° 3. FHW W 94 HImER, 20° 3.
TN W 149 HIHeR (TEvm, 37%) T4T 5° 3. AWM
(@ e @n) W 105 AW, (FET, 34.68%) AT
63. River regime with reference to flow refers to :
varg & w3 ¥ 7 @ v g
(A) Pattern of seasonal flow of water/
@ & Hred vEE i sfhey
(B) Rivers differ in their regime due to climatic
conditions/STerar] FFERT Rafrdl & HRor 78
ol § 31 2
(C) River regime is represented mathematicall
by cumecs/F& 7 FgHa EW TG FY
witan s @
(D) River regime of Narmada and Jhalum are
similar/AHa1 3R oW & 74 77 T T @
Choose the most appropriate answer from the
options given below :
e fadr T fomedi § ¥ Haw UG IWCEA
AT SHifad—
(a) (A) and (B) only/&aet (A) 3R (B)
(b) (B) and (C) only/3aa (B) 3 (C)
(¢) (C) and (D) only/Fa (C) 3 (D)
(d) (A)and (D) only/&aa (A) 3K (D)
Ans. (a) : T4 @ 9@ & diadt vae @ skew @ am
Soary wEA Rafdi & FRo 98 @ F 3R e 2
TO-HW 8 & MER & IR W YRAG HYGw [l
& i it F afer T g
(1) 5@ 4 wvft, RFa swaE & 20000 o7 &0, @
aAfter &1 399 14 79 AT wite €, S@- Tm,
HEH, FOW, A, TG, A, VAR, WA )
(2) Tom 7 Zof R YA &7 2000 ¥ 20000 F
fmfl. 1 39 44 78 Sl €, - FRE, iRaw,
oA 3nfR)
(1) @g & 2oft, T smar &7 2000 f f&f. & w9
31 qul = o & A § awd A Ed A
e €1

UGC NTA NET/MRF Geography Paper 11, 2022 (Sh.-1I)

447

YCT

Scanned with CamScanner



64. Match List-I with List-II :
weht-1 & T geit-11 @ e s
List-1/=f-1 List-T1/G=-11
Hydro power units state
AV TH FohTS =
(A) Dehar (I) Karnataka
Flesh
(B) Srisailam (I1) Karnataka
(C) Kalindi (Il1) Andhra Pradesh
et E1e)
(D) Sharavathy (IV) Himachal Pradesh
Il
Choose the correct answer from the options
given helow : \ b
ﬁﬁ&n‘&ﬁrﬂm‘rﬁﬂuﬁmﬁrm. e
- O
A B C DO\
@ 1 v MR\ %/
(b) 1V n _f{{ly 1
© IV N 1
(d) Mg~ I\~ W I
Ans. (c) : ¥8) GUIGH 48 39 IR o
AV JH T
(A) | 2& femmaa ge2w
(B) | shem EEER
(©) | =fert FAleE
(D) | wrrit FAlea
65. The sea plains are almost absent between :

gt Ew (wee) sttt A arerivit &
e = e €7
(a) 20°S-30°S Latitudes
20° fErw-30° = SR
(b) 60°N-70°N Latitudes
60° IT-70° I I
(c) 40°S-50°S Latitudes
40° EfRm-30° afEFor e
(d) 30°S-40°S Latitudes
30° EfAmT-40° IRy
Ans. (b) : 99 e TEmTHE fae @ waifvs faga
e gl 8, fF9s TEUd 3,000 ¥ 6,000 HeX @ Eed
3 wow memTEE SA%d & @9 75.9% WM W
LT R o O = A L et £ )
80.3%, f&= WeM@WR § 80.1% 41 3Edies HEEI H
54.9% S T WO S & R 9 S 8, wals
60°-70° 3T STiEl & &9 S HVE YT I @ ad
20° I F 60° BT e & 49 ardiE de @
foream waiiftes wrar S 21

66. Match List-I with List-1I :
eft-1 & | geit-11 &1 forer -
Lis(-ll‘q:iﬁ-l List-11/g=h-11
Peaks/RT@T Range/qawsiuft
(A) Gurusikhar (I) Nilgiri
(B) Dodabeta (II) Eastern Ghats
e e, |
(C) Armakonda (IT1) Satpura |
D) Dhupgarh - -'!-V‘) » Aravalli
(D) elqn—léga (
Choose* thé" correct answer from the options
iven below,:
%a T frwedt @ I W TaT
i
A B C D
(a) 1 v 1l I
(b)y IV I | II1
(c) 1 v | Il
(d) IV 11 1 111
Ans. (b) : 981 Gaterd 478 39 FaN o
raT TSI
(A) | eI ENERi]
(B) | === AT
(C) | sm=et T
(D) | g% g
67. What will be the median of the distribution

resented in ihe given graph?
ﬁ'g T TErte # '%a?mn =t TfaeRT @
wrft?

Less than type

number of Stations
da

0 20 40 60 S0 100 120140 160
Rainfall (imm)
(b) 60
(d) 100

(a) 40
(c) 80

Ans. (b) : 22 T TEfes F weqa faawor S witaaw 60

Gl

68. Which of the following food stuff consume

highest amount of water ;
et o

wa-dt Tt T @
walfire Ut w1 ST AT 87
(a) Riceram@ad (b) Beef/mHig
(¢) Chocolate/SielZ  (d) Banana/sell

Ans. (¢) : SiFeid @E-AMEN O @ GEiYES AE
I F 21 e T T W % urer # 3R
Fur FirEda & F A gfr F S 1500-1800 X
aF T T &) Feal & (o 150-250 Jd. I§
FATAHA Tl 81 T IaT aw @ TR g
21 U St s savasma @ gy ot & wig W
T @ 9T oW UEEt O Il @ 89 9 &

goaiEa @4 F FRO Fea F 0 FTFA o ¢

UGC NTA NET/JRF Geography Paper 11, 2022 (Sh.-11)

448

YCT

Scanned with CamScanner



69. Which one of the following are considered

while preparing future population projections?
W Eiep

Prafefea o 9 for o fa=m ferar wraT &2

(a) Crude death rates and their temporal changes

Huh (58) §og =R Al I el
(b) Rate of population increase and future
assumptions of death and birth rates based on

past data/SEE gfg F = awn s siwe
& IR W T W@ g R & T A
(c) General fertility rates and their temporal
changes/@W= S & 91 3IAH FHMAS
qRad4
(d) Age and sex composition rates and their
temporal changes/311%q sitt fom d@mr <
I TGS IREdA
Ans. (b) : SEE 3fz i o awr Ao s $ 3y
W T T g & @ HEl SAE e o g g
TG AEE T8 fEe & o ¢ oo w A
uHg sEd wEde § 4 agartl 2001 F wra &
SEE 102.87 &g 4, St 2011 d% St oA
121.08 &Ug & T GOAA ¥ WG @ SAEed @
wEE 9fz 17.70 sfvwa @ w=fF affs gfe = 1.64
s 21 af¥ie gfa & &l 4R 0.9 sRwa a6 o 9@,
@ ot 2045 F A% WA fave @ wEifvs SAEEn amn
& & S
70.

The most accurate representation of culture
units are given below. Arrange them from
highest to lowest :

WiRia Taes o1 waiiies vt wiatrirea fear
T {1 ! Ioean § Freaw @ f soaftue

(A) Complex/Sfea (i)

(B) Realm/aRuves

(C) Region/5g¥T

(D) Trait T (32)

Choose the correct answer from the options

given below :

= R ™ faeent § | Wi I @ s

Hifwa—

(a) (B), (C),(A), (D) (b) (B), (D), (A),(C)

() (C),(A), (D), (B) (d) (AA), (C), (D), (A)
Ans. (a) : Wil UHE & waivs wis whRa
geaan  Feaw &9 59 @R E-

TRAEe —» TV — TR (FeF) - T (G

According to Koppen's climatic classification
'"Amw’ climate is found in :

WA & A TG & ITER ‘T W
=&Y (Amw) TEAT Thel art et &2

(a) Assam/3HH

(b) Goa/mar

(c) Punjab/dsE

(d) Arunachal Pradesh/3T6UTael 529

71.

Ans. (b) : S %I [E9A q91 Sarg ([GgEa
SR HITA A 1900 # favd &t Foarg & quiaiesh
afiewr wgd fan, Fae g affawa 1931 @
1936 & Wyt farar) w9 1953 & fR-didt 3 @i &
forem & aiffee & wifds A @ FeE
aieh Qi & 74T dIeAT S WIS fhar) SieE &

STER NG & Ty SRvi-
CE]

SeTaTg & WahT
el & EEO H 9Rd H1 9yt

Amw

e
TiiHerlg &1 HIUAvSH A2
WEeldiEg 3R & AfEHaR 91T
QY {odE 3R Y9 & §0
q

B R

B cr e

As
Aw
BShw

Cwg
Dfe

E-
72.

ECELETLI
Match List-1 with List-11 :
eit-1 & e gEi-11 @ fren atfg—
List-1/gef-1 List-11/g=h-11
Social Movement State of Origin
wrTe stere I}
(A) Save Silent valley  (I) Jharkhand
#a wrgeie deft @S
(I1) Guyjarat

(B) Chipko
et

(1I1) Uttarakhand
IEE
(IV) Kerala
&

(C) Narmada Bachao
CLCEE E)

(D) Jungle Bachao
STl @

Choose the correct answer from the options
given below :

foor m&r fameat & ¥ wE WX @ =T
-

A B C D

(@) 1 11 Il v

(b) 111 v I

(¢) I v I I

(d) 1v 11 1 I
Ans. (d) : T8 gafad 99 39 TR o-

CICHECIE CH e I T
(A) | %9 WEce dat B
(B) | fausi IWEE
(C) | ey gansii TSI
[DBELGEEE] EILtELE
73. Which of the following mines have their

association with gypsum?
fefaRe

h H-d @ faan ¥ gt
?

(A) Nagaurﬁﬂ’ﬂ?

(B) Lapsa Buru/cqedT g%
(C) Bhadwah/H<d1@
(D) Ghagidith/amfigte
(E) Jasmar/sSTHR
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Choose the most appropriate answer from the
:égnns given below :
& 7 st

oA ST —

o ¥ gad g I @

(a) (A), (B) and (C) onlyﬁﬁﬁ (A), (B) ik (O)
(b) (B), (C) and (D) only/au_cﬁf (B), (C) 3t (D)
(¢) (C), (D) and (E) only/&a@ (C), (D) 3 (E)
(d) (A), (C) and (E) only/Fad (A), (C) 3 (E)

Ans.

Tt @1 from S & eegls weeneE € S
T UL, AT UL 3R 9
THE 3TN G gekhe iR dide @A F R
e 2| 9 & g SWEe Y@ T §-

(d) : AR, WEaE a9l TR &l @F W §

¥ g A )

O EEEE AR, SREL,  SEAHT,
TR, aEit

(2) | 9 AR HWER | I, T, 2Tl o W\

(3) | dferg asmmz;{ ﬁl’tﬁﬁl'ﬂ'qv_vﬁ 1

74. Whichoneoflhel‘ollo“ingstalemen aremrrect"

frafafigs # @ SR-8 ST gal

(A) Ocean currents prowdc at hlgh degree of
regulation to the-thermal environments of the

earth's surface/ TN YRIE Yol & W8
adia SgElar st e s )

(B) On a lotal scale, warm water currents bnng
moderating |nﬂuence to_coasts in arctic

latitudes/=gr-1g W T YR
@il § 72 W HgeEd w2

(C) Cold currents are not able to bring down the
temperature of tropical deserts/3€] YRIG 38
Feada veee § e § ez 76 @ o 8

(D) Density differences may also cause flow of
ocean water/¥id ¥ I & Fror o

TRIENE el § SaE & ¥ 2|

Choose the correct answer from the options
given below :

2 T Rreed § ¥ W I W v
weTa—
(2) (A), (C) and (D) only/F54 (A), (C) 3R (D)
(b) (A), (B) and (D) only/&ae (A), (B) 3 (D)
(¢) (B), (C) and (D) only/&ad (B), (C) 3R (D)
(d) (A), (B) and (C) only/Fae (A), (B) 3R (C)

Ans. (b) :

TEEIIE YR J%1 & dog & adidg

aAE F AR {tEe =6 € aw e dam
R T I HNE 3HEH HFIW F qEl W WA
TS O 2l 56 YRR U § 3R & ERor of
TRANE S § Yo% @ &1 sl & Sd &
T A 3 Feg @l F W@ S g

75.

What is known as Fossil water?
‘wifte W Rl e 82

(a) Connate water/dgid Sicl

(b) Meteoric water/3c<hl el

(c) Plutonic water/famefta st

(d) Juvenile water/dTel (Juvenile) el

Ans. (a) : B 9 F EHA S A Fed 21 @
{Juvemle)ﬁﬁ@m'ﬂwmﬁ@qﬁaﬁ
28 wa ¥ AiRE 9o asyd vl F @ 21 59
ol @ wEd ved il daE 9 A Seord ol
IeH I 99 A GALE | 399 e, AR i a6 F
ﬁmﬁﬂﬂmwﬁaﬂ st ooft s w9 4§ anf @
S FAEN

76.

The' agncultural activities from the city centre

%" to the periphery propounded by Von Thunen

Arrange it :

TR # W W 9% @i g9 g
wffer  wiv-wa=ft  wfafafiet sataa
HITTT—

(A) Grain farming/31 19 @it

(B) Market Gardening/faafiT @t

(C) Three fold system/ffae gfa

(D) Firewood and lumbering product

i 3 TFe 3 FRBFAA IS

Choose the correct answer from the options
given below :

Fa ™ Rrew § ¥ o IR @ T
Wit —

(a) (D), (B), (A), (C)
(c) (C). (D), (A), (B)

(b) (A), (B), (C), (D)
(d) (B). (D), (A),(C)

Ans. (d) : @7 ZFT @ F @HEHO HE ¥ S
TR F A AR fawfea @9 Gl @ WG &1 IwE
e T & S 59 WER 2-

s G H i gl agge e
g ¥ & o S T & 9 T I )

g 9 H e SN vef g/ o Iware fHar smom
Gt wr oiedl W F g fwge vsfoEw em &
Gt anft aar

oadl 9 § Hiw @ve § qyued gl

gd, H-Hee |

71.

Which one is the correct ascending order of
satellite sensors in terms of higher spatial
resolution? )

T=a e frdes & w=d o oy ddest
= Prefafes #§ § S9-91 T T8 3T &0
&

(1) [9& & UREH0 | HIENCTH a0 Td THAA (a) RBV of Landsat/elvedte &t a4,
8 FEf | WS (b) TM Landsat/sivedie & &1.um.
@) | wewmm ¥ | GOH, wEUE, 9 A (c) LISS II of IRS-IC
TEfAE TS farmm mmm_lmmwmm@_u
(3) |9 wemrHE | ageE adl gal, arsdrE (d) PAN of IKONOS-2
FH ar aef g@HE-2 F @ T TT (PAN)
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Choose the correct answer from the options
given below :

H=r e T frwe ¥ ¥ W I & ua
T —
(a) (A), (D), (C),(B)  (b) (A),(O),(B),(D)
(c) (D), (A), (B).(C) (d) (B),(C),(A). (D)
Ans. (b) : 351 Wi faves & g=d o U dagdi @
HRIE HA I TFR 2~
digde @ A - IEIRTE-l @ &=
T35 TH.TE.- 1] - S0ede & AW, - FHAw-2 &
4.0 T, (PAN)I
78.  Hydraulic Slope Theory is given by :
TATATT WauTaT & g & wieurgs a-—
(a) C. Darwin/4l. E1fa=
(b) W.M. Davis/@=q, UH. 3w
(c) W. Penck@ﬂﬁiﬁ
(d) R.E. harton/3TR. &. g4

Ans. (d) : ST YGUET & 9@ (Hydraulic Slope
Theory) &1 Sfauea 1R, £, g7 T fhan T 2, waf®
T 3 TEAY T 39 FER -

(1) | wfeeamE fagra - g U

(2) 7o HaeH # g - fre=d

(3) Fose srae e - wifdw

1(4) aA T faama - =fw

(5) e wR fre - e

(6) Wt Fomvew g - TMEW

79. Arrange the four Indian oceanic relief features

in order of their location from north to south
direction :

fo WerAnR & W IseTa |G @ I A
TOT F 3TN IS U & 2R W Fuag
Hi—
(A) Laccadive-Chagon ridge
A e
(B) Chagos-Saint Paul ridge
nire-Ta 9T Few
(C) Amsterdam St. Paul Plateau
THeeH-Hd 9d U8R
(D) Kergelen-Gaussberg ridge
TSR Hedh
Choose the correct answer from the options
given below :

for o T fameat § § Wl IR @ =R

-

(a) (D), (C), (B),(A)  (b) (C), (B),(A), (D)

(c) (A),(B),(C),(D) (d) (B), (C),(A), (D)
Ans. (c) : &= TR ¥ fiaq 3W @ <o 3w @
TE W 39 IR -

TERE-ATE $2H — AME-HUE Hh —

THZEY - H2UE G3R — FH[CH — MEHa FeF|

80. In concentric zone model the correct order of

zones from city core to periphery is :

WG 8 ey § TR e @ argenT @t
ATt & &A1 T WE W -
(A) Low-Class residential/fA=fas amamia
(B) Whole sale light manufacturing/
di% gowh fafmfor
(C) CBD/Ht &t &
(D) Medium-class residential/

e g1 ETEg

Choose the correct answer from the options
given below :

Fo g ™ freen § @ @@ IwC w wwT
@ —
(a) (A),(B),(C),(D)  (b) (B),(C), (D), (A)
(c) (C),(B),(A), (D) (d) (D), (B),(C), (A)
Ans. (¢) : GH=g TEw fagm @ Aoued sERE
woeTEh @i X 1923 § fha &)1 fagr 3% omRE
#F R TR F angma | amviRa 2 3w o &
mgqnﬁ;#wmhﬁmaﬁaﬁtﬁﬁﬁmﬁumr
¥ 5 dhEd gd & &Y § q@ S 81 39 dfedi @
faTm fr=fafaa 2-
(1) =19 =R &7 (CBD)
(2) Eemaw &
(3) T HEG H7 TETHE &7
(4) FST FEHT A
J(s)af'mmﬁi
81.

Given below are two statements :
Frer S wmow 3 & -
Statement-I:  All human actions associated
with production, marketing and
consumption of goods and
services are defined as
economic activities.

All human actions linked not
only with production, marketing
and consumption of goods and
services butt the time spent on
leisure and pleasure activities
are also defined as economic

activities.

Statement-1I :

FAT(): I T TrEe ke s oy
agell o FarE & I, fawm
3R ST | 2, 3¢ omfdS Tifateat
e I 2

HUT (1) : 3§ gwEg kel St T e

sl 3R FEEi F I, fquE
s smim & & 2 &, afes smww
T4 ImE-yOE ol efatar @
wEtaa & @ off onfds Tfafaftat Fa
S
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In the light of the above statements, choose the
most appropriate answer from the options
given below :

IWANTH AT & et o, Hrer fd & faemedi

T ¥ wad W IR @ AT Sa—

(a) Both Statement I and Statement 1 are correct/
HeA-1 3 -1 3 FE ¢

(b) Both Statement 1 and Statement Il are
incorrect/FHYA-1 3R FF-11 4! 7Ted 81

(c) Statement [ is correct, but Statement II is
incorrect/HgA-1 @ &, AlhA HY-11 e 21

(d) Statement 1 is meorrect but Statement II is
correct/HYA-1 TAT ¢, Wl HEA-11 6t 21

Ans. (c) : @ T WEE TfETE e we aegai
%wm,ﬁqmahaqﬁnﬁ%,a%aﬁmnﬁ‘rﬁw
FE GO ¢ aW 3 W0 GMdE TeRE o q ad
T I T & I, ﬁmﬂhm%'@rqﬁl
@, afts ofadw wd ey aelt ahfatal |
gmtym §, 3t o Thafafet 7w s )

ar: wWe g f& FuA-1 9 8, A $9a-11 Ta 2

82. Match List-I with List-II :
i1 & | -1 = frems Sfim—
List-1/g=f-1 List-11/g=-11
Rivers/ Types of Delta/
T F TER
(A) Missisippi (I) Arcuate
E1EICL
(B) Ganga (I1) Bird-foot
T LR
(C) Narmada (I1T) Cuspate
e e
(D) Tiber (IV) Estuarine
CLEC T
Choose the correct answer from the options
given helow :
Fo Ry T fawest § ¥ w@ I & s
WA —
A B C D
(@) 1 11 Il v
(b) I | | v
(¢ Il I v il
(d) 1V 11 11| |
Ans. (c) : 98 gAiad 4™ 36 JaK 8-
afeat oLl & Ul
(A) | mfafed TGS
(B) | 7 AR
(C) | Fr= AT
(D) | @ EELRl]
83. Which of the following are not functional

regions?
® | W wA@® (functional)
W TE §?
(A) Middle Ganga Plain/qeq T e
(B) National Capital Region/Ts1a Twar &7

(C) Malwa Plateau Region/Teal YR &7
(D) Kolkata - Howrah Conurbation/

— AT A
Choose the most appropriate answer from the
options given below :
A3 o feramet

AT ST —

(a) (A) and (B) only/&ad (A) 3R (B)

(b) (A) and (C) onlyf#f—r (A) 3R (C)

() (B), (C) and (D) onlyﬂﬁﬁ (B), (C) 3R (D)
(d) (A), (B) and (C) only/&ae (A), (B) 3R (C)

# & wold IugwH I @M

Ans, (b) : ¥4 T deH 9l G YR &3 S
RV 7 2, SafE TG U 8 3R SeE-gEe
AR FEdS 529 ¥ gEfyg 21 f5d o 83 & 9@
A 39 I FE AR & @ ¢, A9 H @ & I,
fasme 1 i SR WY & 99 W F 3W IR, T
v vy wfafafnd, sael a1 dasi % v 99 9. 8,
W ywehE TR (Reeh), e s (@),
Raed iR, aftifas @, Wiys e g 08T oEd
3t

84. A Free Trade Zone, in international trade,

hnppens to be there, where :

TR § qh AR & aE ' €,

m-g‘f_

(a) All the participating member countries
impose a common tariff on imports from non-
member countries/@dl AiER ¥E= 2w k-
T A9 § A A W EEAH e
o 8

(b) All the participating countries allow free
movement of labour and capital/&l YRR
29 gmEd it iR & g% 9EE em @l
srguf 2 &

(¢) Member countries abolish tariff and quotas on
trade but maintain independence to impose
restrictions on imports from non-member
countries/§&e ¥ AR AT qYh T FheT

T T ¢, W N-HeE W T IAE W
Iﬁmwﬁ%iﬁq&ﬁa‘aaﬁmﬁﬁ

(d) Member countries adopt common economic
policies on issues such as agriculture
transport, industry and regional policy/Hq&
2w 3, WRasd, S0 sl AdT AR 4R T

W grEh e ARl s @

Ans. (¢) : IR 8] ferawsli & @ed & 1 I
R 3T SR I & &9 § S0 56 21 T8
Frd e s S EW e B v R S
g 79 TE9 2V AWK W NYEH 3 F TH FW £,
I -gaE 39 ® W W NAy @ & fo |
Wi @ W € @ YeR uig I9E ud dani 3§
syl & & o = Iadeo i = @ arge
i Farslt F RIw el wem w1
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'‘Save the Silent Valley' movement a social
movement to save the tropical green forest
from destruction for a regional development
p'r_uject was territorially based in Indian State
of :

"y BT Ena’ S U welves i
e ¥ Iwrsfea=fta gfiw @+ @t faamr
¥ T & foT amTfae =i 9Rd & 39
e o feaw ar?

(a) West Bengal/uf¥=m 97

(b) Bihar/fER

(c) Kerala/&@

(d) Gujarat/TsITd

Ans, (c) : "V 9 T’ =IO WO dall B Qe

S & faty F on 39 8 feui o
g wE W e & REe S
@W%ﬂﬁf@mmmﬁﬁmﬁaﬁrlgssﬁ
méﬁr@umtﬁﬁmmﬂmwél

86.

E
EGE]

i

Given below _are | two® statements : One is
labelled as Assertion (A) and the other is

labelléd a§ Reason (R).

o @ wm g ™ ) ww afueus

(Assertion A) & ®U H faflga g, T-ﬁ T WS

hIT (Reason R) ooy s

Assertion (A) : According to the 2011 census, the

scheduled tribes accounts for 8.6

percent of India's population are

spread largely in forested and

hilly regions.

The essential characteristics of

scheduled tribe communities are

primitive  traits, geographical

1solation and economic

backwardness.

2011 & SETE & 3133111 I

W SEEn arﬂi%ﬁ

@ fe= 86 whww 2 g@a

Tt wd werd) 8t ¥ % gu

arﬁﬁn S WA & 5@
¢ snfem fagemd,

aﬁmﬁ 3&{ 3fde o)

In the light of the above statements, choose the
correct answer from the options given below :

IOTH FHAT F WS 7, 2 fTd T Ry

o | W I & wa wife—

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/(A) 3 (R) &t
T § 3 (R), (A) F wé = 2

(b) Both (A) and (R) are true and (R) is NOT the
correct explanation of (A)/(A) ST (R) i

Reason (R) :

AMTHTT (A) :

AT (R) :

% 3¥4 § YF f6a 70 uF gl e an a6l
MR T & ToEHE o & wEEen 3w Heddia(] )
EFﬁE!:T\TEE'F:'a-'lﬁ"fqz‘l,'l_fﬁ'q'ﬁ:rl(Kumhlpuzha)qﬁ‘ﬂi’ﬂ'ﬁ,’1

(d) (A) is false, but (R) is true
(A) 377 2, A (R) 7 21

Ans. (a) : 2011 @ FHUHT & HTHR 9@ H FAEEA H
sgfan sHeEl @ fe 8.6 wfwm @, @ gem:
Tl ©E el & F G gu § aan orqEhw
mﬁﬁ%g@rwﬁaﬁqﬁﬁﬁm siiiferh
e 3R N e

a7 (A)aﬂt(mmﬁimﬁﬂ(n)maﬂﬂﬂ
e 21

87. Laminar flow.a alr,rrfers to:
aTg ] A (CIFAR) Farg Heerar -
{a) Mdvement nfparﬁcles in all direction/
o T T el 7 A
(b) Movement of particles in one direction/
FUit o s fawn § i
(c) Deflection in the direction of surface winds/
g=Sg gaq &l faem F e
(d) Decrease of air prcssure between two
isoba e Eﬂgﬁﬁ CaRere |

Ans. (b) : mgmrmﬁ’q(ﬁﬁﬂmmﬁﬁm@
Rem & TR B0 §) APER R g/ WA
THRWA 2, fras IEm Hae 1 9w 9 9@ wh
o @ THed & fom fheer & wem § wgn qw
FME G & forg frn s 21 zE Prafatea s

i -
(1) Fe (2) T =vH
(4) @R

(3) W-fAeex
(5) gt o= (6) PEPA fifeex

(7) @igz @

88. Which of the following map scales would be
most wuseful for study of the details of
geographlc features in the landscape of farming

communlty

# ¥ T TR T FR R
& wgva # ofmifas fadeasdt =1 faee
T HiA & Ty werw stitres suant grf?
(a) 1:3,000,000 (b) 1: 1,000,000
(c) 1:10,000 (d) 1: 125,000

Ans. (c) : 1 : 10,000 T A9 Hf aﬁ‘ﬁ-‘ﬂﬁ
i frstasi @ fasga S m

s IwEnt g ttm‘-ﬂéasmnmwﬂﬁﬁﬁaﬁqaﬁ
wiiferes | [arah e ey A F affga R s 1 6 wEw
ged w et & ety gEfE, TAfeE
T Y Ao mAteE S Ay aefe e e geke §

ﬁ"ﬁ'@ﬁﬁ:‘mwél

Which of the following statements are correct
about the state of Himachal Pradesh in india?

ORd ¥ TRuTeeT ¥eur Use & an o
TH 3 ¥ 5wl 8?
(A) High  potentialities ~ for  hydro-power

generation/STel fEE ITEA St TgH TPAEAT
(B) High literacy/3=d §RIGT

3 (R), (A) St T& =@ 76 2 (C) High  potentialities  of _ horticulture
(c) (A) s true, but (R) is false developmenvarmart  frama §  fds
(A) ¥ 2, @ (R) 39 21
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(D) Rich in mineral resources
T el A @i dEeA

(E) High proportion of usable land
A v#m

& 3 A

Choose the correct answer from the options

iven below :

B R T e F @ Wl s @

wifsa—

(a) (A), (B), (E) only/3= (A), (B), (E)

(b) (A), (B), (D) only/*=c (A), (B), (D)

(¢) (C), (D), (E) only;ﬁﬁ (©), (D), (E)

(d) (A), (B), (C) only/=ad (A), (B), (C)
Ans. (d) : I & fewred w3w @ sferae gEr 9 |
W e avEr W osmafa 21 oy S S sHee w@
dim-dier 4 e wm 57 &6 F @ gen @ oW e W
SHHE e (123) 997 ITAEERdl (82.8 WAYME) dF
urdt SR @1 e wRw | & A, s- gaew, o
anfe sarfea @it €, i JUTEA @ UL FE
IGF o TG &1 RO wew % et we &
feuraw wew &1 Razswdve Far o @ q91 Fowg, ST,
feraen, s@@Teh, wHwmen R TS & wHdg svE e
2, S 9ei 1 srfezaT § wEwEg AR w4 )

90.  Match List-1 with List-11 :
Heit-1 3 wre gEh-11 & firem ik
List-1/g=h-1 List-11/G=h-11
Arab Geographer Books
3N e feremal
(A) Al-Masudi () Kitab al Hind
TG fonma o1 &=
(B) Al-Idrisi (II) Mugaddimah
-zl
(C) Al-Biruni (1) Kitaab Muruj-al-
Dhahab
FeA-fareit fepmTe TT-37eT-uee
(D) Ibn-Khaldun (IV) Tabula Rogeriana
gei-@regd
Choose the correct answer from the options
given below :
e R T el § # 98 I &0 9ad
wifea—
A B C D
(a) III v | II
(b) 1 v Il II
() 1 il v I
(d) 1V | 11 I11
Ans. (a) : G QAT T 39 ¥ER &-
(A) | e e U370t
(B) | 3rai-zelivh ageN JSHRamT
(©) | sra-a& e a1t fR=
(D) | s=-wregd TehfeaTe

Note : Q. No.91t095:

Read the following passage carefully and answer the
question given below :

Climate change involves both internal and external
factors. External one includes solar wvariability,
astronomical effects on the earth's orbit and volcanic
activity where as internal one includes natural variability
in the system, feedbacks within atmosphere, ocean and
land surface. Recently, human-induced climate change
on global and local scale has become a reality, primarily
through changes in atmospheric composition and surface
properties Climate changes involve continental drift,
volcanic activity and solar output. Glacial-interglacial
cycles have been controlled by astronomical variations,
The global temperature has increased by 0.5° C with
greatest in the middle latitudes with warming particularly
during the 1920 to 1940s and 1990s with several warmest
years. Long term changes are ascribed to astronomical
forcings, while short-term changes linked to
anthropogenic factors causing changes in atmospheric
composition, including aerosol loading, depletion of
ozone, destruction of vegetation etc. Recently, climate
change predictions with GCMSs are under taken for next
100 years depending on emission scenarios for green
house gases and aerosols the mean global temperature
may increase in the range of 1.4 to 5.8°C, together with
sea level rise. To conclude, critical research data on
cloud cover, radiation, ocean processes atmospheric
coupling and feedback processes in the context of climate
change are required.

Presfefas Teier & 3TUR O Wy & I S -

sia TR # srRe S A FRE G gfEd €
A FH & Iid G GRagATd, E & W W
Gita yaE 3 T s =R
RS FRE & a7 F Mpleh I adr
:Tﬂ%mz‘vl TRPR 3R quzd $t wikhard 3§ Ee &
7§ 3figs it wHE ¥ W 9FE 6 sy wiedd

qeag A e I 8, o TUEy e
3R g-9ed & ﬁﬁﬁmﬁwﬁaﬁﬁuﬁnﬁ“ﬁ%lm
qRadAl § aTE, nfafafy siic dic ffg

giafed ¢ RuAda-sfRe=da 9% @l @nidia aiad
frefia Fxd 3 €1 YAvEd avEE 0.5°C =g 3 A
4 7% gfe a8 st weg el ¥ g @ @ o A
ferdiear 1920 |/ 1940 & 3@ 7@ 1990 & TS & &=
wE af el Afis T © &)1 Sedwela oRad[ i @ R
TG Nithal & 9= AT 81 SEid HeuFas IRadAl
F =Y 3 THGTE FRH Y & St Hued |
yRada @ €, 9 W qR HieH &) 5 9, FAE
& famre sefE swred 100 =6 & o Sidiuw & W™
swarg afady @ afrsafiEt o @ € deeey W6
& IedoH o9 UlEd & ERK W S 100 | § sited
VST YA & e § 1.4 ¥ 5.8°C 3& #9 » 9
e W% wae § 4 gfE e F gwee @) fred & i
79 @% HWad § (H wﬁaﬁt{%mﬁgﬁtﬁw
fafertor, werara sfFarsd, aguueda LSECES
sfearsii @ wafwa Wiy & fag qﬂg%fr siwel
FEYTFAT 21

A4

UGC NTA NET/JRF Geography Paper 11, 2022 (Sh.-1I)

454

YCT

Scanned with CamScanner



91. Which of the following elements is not

associated with climate change?

[ I-|T 3Taad Wetarg uitae |
wratud T §?
(2) Solar variability/&it IRad-refiem

(b) Upwelling interactions/
o % TR 2 P e frad

(c) Volcanic eruplions/ﬁT?lTﬂ'@'q 3@@[

(d) Astronomical periodicities/@ il 3ad
Ans. (b) : 90 & SW AM F YREIRE frad wearg
qRad m:zﬁ FF & 8, vais 9 aRadavie,
el IS FAT @Al A& ey gRad ¥
FRSF ¢ TG UREeA § i 3R 9 e QA
wftfea &) @ W & S Wi uRadefem, geE
& T W GGG TG SanEl iy Sefh s
FRE § WS IR a9 AEAved, TR 3R
qued F wiaward i €1

Ans. (c) : 'TTET-&H auE § 0.5° C
mﬁﬁqmmmmm @

oA faera 1920 ¥ 1940 St 3@y @2r 1990
A & ad wan afts T ® €1 09 sy
ISA a9 VEE & SMER W 3 100 | 5 3ited
TS a9aE & R F 14 ¥ 5.8 C e R F

cH
|

- wg Gee ° f g I & e )

95.  Which of the following conditions is essential
for future research with respect to climate

hange?
gr;l‘mg'g Tftads & wEfue aias & g &
oy FraferRad & F-H v arfvard £

(a) Hychological modelling/
Scfagm-ma fARyifat

(b) Runoff modelling/di@ e
(c) Compute modelling/@raex frasfimtor
(d) Atmospheric modelling/argauseig frEgiisnmr

92.  Which one of the following will be mean global
temperature increase range till the year 2100?

2100 9k aqurT o
1 Uil (range) Frferfias § & ®E-T hm?
(a) 0.1-2.0°C (b) 1.54.8°C
(c) 1.4-5.8°C (d) 2.0-3.0°C

Ans. (c) : 3% 2100 TF 3fFa yHUSHIE @A | g
Y&t (range) 1.4-5.8°C BT &1 WHUSEHE  AT9HH
05°Caar3ﬂtm¢=rmﬁaﬁqﬁzmﬁaﬁﬁanwmﬁ
i g 2, 7el oft @ favisd 1920 § 1940 i Jm@fy awn
1990 % =U% & oM & 90 T I ™ ® 8
frerd & R W W @ WS ¢ % SierErg uRadd &
g o e, fafor, wermT sfwared, agrvecda
o 3k Pets WA § wafum WY F R
naﬁinfanasgfaﬂammél

93,  Which of the following activities do not
accentuate short-term changes in atmospheric
composition?

Tued # sreusele uiad=l @l
fr=fataa ir T FF-dT T &y T8l
HET E?

(a) Aerosol loading/TETer HROT
(b) Astronomical forcing/@melt a@-frar
(c) Loss of flora/aTefe 1 &0 &
(d) Depletion of ozone/3 & &R H
Ans. (b) : IAVSHE U H AcUHIGE URad-l H

@il ga-fra, TR 9w YeF AE & 2 3™
e oRadal & SR @il vfedl #t 3 S
2, vafs sTcusfs IRadAl & G 39 TS HREHI
¥ & = e § ufladd dd &1 oS-
Uaie wRe, SEE TR T F, gt & e o)

94. Which one of the following rates of increase
have been observed in global temperature in

recent times"
A ° frefeiad

T

o ¥ ®H- :ﬁqﬁa&@?ﬂﬁ’
(a) 1.0°C (b) 1.4°C
(c) 0.5°C (d) 5.8°C

= aul & forg sfdien & g Sy

Ans. (d) : mﬂﬁaﬁﬂﬂﬁﬁﬁﬁﬂﬁ'ﬁﬂﬁﬁm%

mmﬁamaﬁmmélmmo
Rad &1 afesgarerl
& o @ &) Frepda: Joarg wRada & g 7 AemE,
fafeeor, wermTHE  wiRae, agEUEAd gmE 3
tﬁgﬂan&maﬁﬂmﬁm&ﬁa%mwm
# aTavae 2|

Note : Q. No. 96 to 100 :

Read the following passage carefully and answer the
question given below :

Population Geography, a sub field of Geography, studies
spatial variations in distribution, composition, migration
and growth of population to the terrain, in a way it
involves demography in geographic perspective.

If focuses on questions such as where populations are
found and how the size and composition of these
populations in regulated by demographic processes of
fertility, mortality and migration contributions to
population geography are cross-disciplinary. Disciplines
other than geography contributing to population
geography include demography, sociology and
eCconoImics.

Since its inception, population geography has taken at
least three distinct forms. The earliest emerging in the
1950s, focused on the systematic study of population
distribution as a whole and spatial variations in dynamic
characteristics of population. Trewartha, Zelinsky,
W.A.V. Clark and other form U.S.A. and J.B. Garnier
and Pierre George in France Pioneered this phase.
Population geography has widered its scope to cover
different variety of themes with time. It studies various
population characteristics including gender, religion age,
disability racrete by grouping population characteristics
into political and administrative units. All such variables
go far beyond the vital statistics of births, deaths and
marriage/migrations.

Geographers  have  studies relations  between
demographic growth, displacement and access to
resources at the International scale. Examples are density
maps prepared using choropleth, isoline and dots.
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freafafias ey & TN O 9y e S 3Tl e —

TG W, P & U I9EE, SUad W SHEEE
famwn, sEem, SEE @t ok afe & wfes R @
I T 2 UF VAR W 9 SR @ At
=] e T 2

7§ UH ST T aw 3@, a9 F@ S a8
AR 3T SR & ER AN §= Y veR 3
Yo, g 3R WawA @ Sy wEmasi # Rt
At 21 SHEEn gie § dme sR-avas 81 SeEen
o § dmem 3 9w fawd ¥ e & o
FAGIRETE, TSI 3 v 1

FEEAT AT 39 A /0 ¥ w0 S5 swm-ar w9
d H ) T e I o & v o 3w g %
3G & TAG T G SEEAT G0 qdl S i
TRadras et § s R § 9N | osnaE
W aw e i & S,

ot @ e, s, s auA. |
o ot [T Rl W 6.9 (TR e [

T 59 TOT A S0 ST A
TG & A FAEE T & & Ahm 3 @l
mm@mgméuwmﬁmm
F TS iR serafas dimell § e se aeEw 9§
fem, wi, sy, smom, swiy o wfed fafm swEen
T el @ s w2 ) T Tl W 9, 5y
3R fae swa yaEa F oed wEAl sieel ¥ @ a5
3m T
3 7 IR T W SmEiEsE ghe, fawmm
T o UgT & 9 & wEel w angEa e 2
IR F A W quimE, e o frgalt F wam &
FaR T WA )
96. Which one

characteristics
statistics?

of the following population
does not belong to vital

# ¥ =t S R

Sra-ue=dft et @ gafua =8 87

(a) Births/s=1

(b) Deaths/Jtg

(c) Age and sex/3Tg s fam

(d) Marriage/migration/faams/saw=
Ans, (¢) : 3F 3R o Fawen favma shaa-ga=
el ¥ WErYE @ ¢ SEEN i WEd W
S fam, yawE, 3 e e iy &
fovel @1 areEe e @ AW SAEEE @ e I
T & o, G AR TaET I SAHiGERE Hhaa
¥ fafmafim &
97. Which one of the following group of disciplines,

other than geography, has coniributed
significantly to studies in  population

gqurag?)'?
W & orear fafeiad § e fma-wag
I TAEE O % remEEd Wgwaqul e

fear &2
(a) Psychology, Anthropology and History
3R 3fem

(b) Anthropology, Statistics and Sociology
S, wifega i aasme

(c) Sociology, Demography and Economics
E): lograp a):ﬁI
(d) Economics, Sociology and History
, SIS
Ans. (c) : Tl & Jfales AN PHa & eagq A
U, SWAiteEdE A adire fwa ¥ e
A fian 2

98.

Which one of the following vital statistics is
related with demographic characteristics of

opulation studied in Population Geography?
%!ﬂf%fﬂaﬁ ¥ ¥ qw H WAEE o SEd

Tt st arelt wAATEE favraarst &
A TAUEAT A oh STl fenarm wraT &2
(a) Age and sex/3TTg 3t f&m
(b) religious composition and race
| (c) Binlh, deaths, imdrriggefmigratioh |

5, g, faeEmRy/vEeT
(d) Literacy and workforce/TmRaItd 3t wdae

Ans. (c) : 99, T, foame/yase & SHEE & Sied

Al Hiwsl A TAGiRgEE  favemsi & e

SR ST & A R S 2

99.

Who among the following is not a U.S.
Geographer pioneering population geography

as a part of spatial science?
Pl ® @ @ e § R vl
fom= & 9T & w ¥ SEEE Wi Y A
AT g ag TRl TIiera TE o
(a) G.T. Trewartha/stt. 2. i?ﬂ!ﬁ
(b) Pierre Georgefﬁﬁﬁ Eic
(¢) Wilbur Zelinsky/fawsr Sifer=t
(d) W.A.V. Clark/ssq. 0 . amh
Ans. (b) : W9 ¥ S, MG 3R A Sie qar amRE
¥ frand, e, s Ul 9% 7 ot fem &
a1 & &Y ST P S 0 "
100.

In which of the following decades, Population
Geography greatly focused on the systematic
study of  distributions and spatial
differentiations in various attributes of

opulation characteristics :

Freaferfian &  for 2o & e e i

TAEET frawur war e @t Ay &

fafisr wgol o e o ¥ e

egaA U Afues e foar war?

(a) 1950s/1950 & =vrm o

(b) 1960s/1960 ¥ 1= if

(c) 1980s/1980 & &vis o

(d) 1990s/1990 F 391 §
Ans. (a) : STEHE YTE 3’94 0N A FH-B-FA A4
AT-3TE T o g &, T URA 1950 F T9E F 3
f9g & Igwa & Wy SO wNE SAEEd faar g
FEE # uRadqree Eemaeh § e fee &
YR W 3Aa- W ga f&an
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